3/7/23, 3:29 AM Response Sheet

Subject : GE_Q01-Q10_PGTCS
Question ID:- 1

NOTABLE

Choose the word similar in meaning to the one given above,
(1) Prosperous

(2) Comfortable

(3) Distinguished

(4) Average

Options:-

«1, Option ID :- 1,
= 2, Option ID :- 2,
= 3, Option ID :- 3,

= 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

OBSCURE

Choose the word opposite in meaning to the one given above.
(1) Ponderous

(2) Thoughttul

(3) Heedless

(4) Apparent

Options:-

«1, Option ID :- 5,
= 2, Option ID :- 6,
« 3, Option ID :- 7,

= 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7

Question ID:- 3
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Identify the part of speech of the underlined word in the following senteng
I cannot give him credit for this.

(1) Preposition

(2) Adverb

(3) Adjective

(4) Interjection
Options:-

«1, Option ID :- 9,
= 2, Option ID :- 10,
=« 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4

Many aspire for greatness.

Choose the option in which the Voice in the above sentence has been correctly changed into Passive
Voice.

(1) Greatness is being aspired by many.

(2) Greatness is aspired by many.

(3) Greatness has been aspired for by many.

(4) Greatness is aspired for by many.
Options:-

=1, Option ID :- 13,
= 2, Option ID :- 14,
=« 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Hari said to me, “I want to help you.”

Choose the option in which the above sentence has been correctly changed into Indirect Narration.
(1) Hari told me that I wanted to help you.

(2) Hari told me that he wanted to help you.

(3) Hari told me that he wanted to help me.

(4) Hari supported me with an offer of help.

Options:-
«1, Option ID :- 17,
= 2, Option ID :- 18,
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= 3, Option ID :- 19,

= 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6

Choose the option in which the following words/ phrases have been rearranged to form a meaningful
and grammatically correct sentence.

(A) to the

(B) we should

(C) ourselves

(D) accommodate

(E) circumstances

(L) (A)(© (B) (D) (E)
(2 (©) (B) D) (A) (E)
(3)  (B) (D) (C) (A) (E)
4 (D) E) (A) B) (©)
Options:-

«1, Option ID :- 21,
= 2, Option ID :- 22,
=« 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 7

Identify the part of the following sentence which has an error in it.

All kinds / of stationery / is / available here.
(a) (b) (©) (d)

f—
m
e

e I~2
B

e T e T s B
=3

— — ——
r]

Cu

T

Options:-

=1, Option ID :- 25,
= 2, Option ID :- 26,
=« 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8
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Fill in the blank in the following sentence by choosing option out of the given ones.

He did not come to the party, ?

(1) wasn’t he

(2) didn’t he

(3) was he

(4) did he
Options:-

«1, Option ID :- 29,
= 2, Option ID :- 30,
=« 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 4, Option ID : -32

Question ID:- 9
Fill in the blank in the following sentence by choosing option out of the given ones.

Rita her seat in the class.
(1) dropped into

(2) dropped off in
(3) fell in with

(4) got on with
Options:-

«1, Option ID :- 33,

= 2, Option ID :- 34,

=« 3, Option ID :- 35,

= 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33

Question ID:- 10

Fill in the blank in the following sentence by choosing option out of the given ones.

One should not be devoid decency.
(1) of

(2) on

(3) off

(4) into
Options:-

«1, Option ID :- 37,
= 2, Option ID :- 38,
=« 3, Option ID :- 39,
https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204243032201...

4/109



3/7/23, 3:29 AM Response Sheet

= 4, Option ID :- 40,
Answer Given:- 4, Option ID : -40

Subject : GH_Q11-Q20_PGTCS

Question ID:- 11

et feu o Tenw W gt wattues sfea fawew = wee it -

T SR AR FET & @Il aen ITh 1 YUIEH whi SEEht § A L § o gan <u § &1 =il a5
STEvIh -5 TERv H e o1 wHR SR gfie SR | WA i WIfd 1 Hel St 8 ¢ 1 g6 g6
o1 forer iR gft des =1 oG & T

AEF | P GH A S ?
(1) <N % T@I-HeT ol adlhl
(2) RN % 1A B B ALH
(3) N % SR sl Iepedl
(4) TN o GrEH-HHSH L

Options:-

«1, Option ID :- 41,
= 2, Option ID :- 42,
=« 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

=t fou U TRy it ugeRt daifies Ster faehed st =9 SRty -

T 3T AR FET % AN a2l STt P YUIet i Eet § STH L § o gan < § &1 sl a5
STIEYTh TS TR H oy o1 ToR Sl gfies st€ier | aa @t waifd o1 ge Shwfe € ¢ 1 gafae g
5 forer o) gfer §T89 1WA 1 Ffeu)

FHIA-Hl B AT HAGTIF el T ¢ 2
(1) Toren =i U SR S ST
(2) foen FrgER iR gfbew s
(3) ¥ s=ier 3R gffe Hea
(4)  #fH% HIe SR qorel
Options:-

«1, Option ID :- 45,

= 2, Option ID :- 46,
=« 3, Option ID :- 47,

= 4, Option ID :- 48,
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Answer Given:- 2, Option ID : -46

Question ID:- 13

o fau T ey St ugeRt waitie 3fad fasen 1 w9 wifa -

T 3T TR F8T & T al STeht o1 YUIel sl <@t § ST A idl § foh g <9 | &1 =isl sgd
SATEv &5 U H e w1 wuR SR gfite STeier | MRd i wfd 1 ge st 8 8 | et g |
S Toren 3IR giter S8+ &1 92 & =9ieu |

I hi 3T 1 AR § -
(1) e =1 w6R
(2) gfHE H1ed
(3) SIfeRd
(4) T YOIl
Options:-

«1, Option ID :- 49,
= 2, Option ID :- 50,
=« 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14

et fou T eIy it ugeRt waitieh Stea faehen @ w9e wifeg -

T ST 3R a1 o W a0 3! 1 JUTEH 1 SR § STAM HT § [ S99 B 31 9iS 95
STIEYTh TS TR0 H foreT o1 99 SR gfies ST<€ier | M @t wofd o1 ge Shwfe € ¢ 1 gafae g6
5 Tove 3iR gfoes Se &1 94" s I1eu)

TS % TR g Frafafad 59 w1 sawsd § 2
(1) |ft =1 A S

(2) w1 fafe s

(3) TR F BT T

(4) Wl % R SIS FEA

Options:-

«1, Option ID :- 53,
= 2, Option ID :- 54,
=« 3, Option ID :- 55,

= 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Question ID:- 15
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" gftrR " WIee 1 A TR SR We © -
(1) ZH+3%
(2) URHH+SH
(3) wm+fh
(4) g+
Options:-

=1, Option ID :- 57,
= 2, Option ID :- 58,
= 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 3, Option ID : -59

Question ID:- 16

‘grfes” we | Tg 2
(1) =
(2) =%
(3) fo=
(4 H
Options:-

«1, Option ID :- 61,
= 2, Option ID :- 62,
= 3, Option ID :- 63,

= 4, Option ID :- 64,
Answer Given:- 1, Option ID : -61

Question ID:- 17

‘e o fadm @ -
(1) T
(2) Tew
(3) TEA
(4) g
Options:-

«1, Option ID :- 65,
= 2, Option ID :- 66,
« 3, Option ID :- 67,
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= 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

‘qerr o Hi-famse § -

(1) dH+3E
(2) d¥U+HEd
(3) ae-aTE
(4) I3
Options:-

«1, Option ID :- 69,
= 2, Option ID :- 70,
=« 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69

Question ID:- 19

(1) FeH, SgeA
(2) 3fq, famdm
(3) fopm, Sope
(4) SUH, Sohw
Options:-

«1, Option ID :- 73,
« 2, Option ID :- 74,
=« 3, Option ID :- 75,

= 4, Option ID :- 76,
Answer Given:- 4, Option ID : -76

Question ID:- 20

qH-qeY9d Fl 9Td 9 © -

(1) FHH-Fm
(2) &R-Er
(3) TRH-THI
(4) -SRI
Options:-
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=1, Option ID :- 77,
= 2, Option ID :- 78,
=« 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 4, Option ID : -80

Subject : GA_Q21-Q30_PGTCS
Question ID:- 21

Who among the following has the power to grant Pardons as per the Constitution of India ?
(1) President

(2) Supreme Court

(3) Parliament
(4)

4)  Attorney General of India

T % S % ER et § @ R A W # Ol e T 82

(1) Tgafa

(2) T=EAH =EEE

(3) HHe

(4) TR 1 WIS

Options:-

«1, Option ID :- 81,
= 2, Option ID :- 82,
=« 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 1, Option ID : -81

Question ID:- 22

Which among the following is the longest waterway in India ?
(1) Brahmaputra river between Sadiya and Dhubri.

(2) West-Coast canal in Karnataka

(3) Ganga river between Allahabad and Haldia

(4)

4 Narmada river in the area over East West canal
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qd H Heod el STemr| hH-91 2 ?

(1) wfem iR gadt % = geaq 7

(2) HAH § ufeam 99 T

(3) TeIREEIE SR Bfeedn % it i A

(4) qA-ufTEd el F W F &% ° e 7o

2

Options:-

«1, Option ID :- 85,
= 2, Option ID :- 86,
= 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88

Question ID:- 23

The diffusion of iron in Crystalline and metamorphic rocks results in seil developinga _ colour
(1) Blackish

(2) Bluish

(3) Reddish

(4) Greenish

Thfea AR Taid T2er | die & faqe & afiomsesy 1 =1 T2t fasfaa 2t 21
(1) e

(2) et

(3) T

(4) =
Options:-

=1, Option ID :- 89,
= 2, Option ID :- 90,
=« 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

Question ID:- 24
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Which of the following was founded after independence in India ?
(1) Federation of the Indian Chamber of Commerce and Industries
(2) All India Democratic Women’s Association

(3) Indian Industrial and Commercial Congress
(4)

4) Depressed Classes Association

frafafad § 4 fRges T YRa & ASE % 916 8 2

(1) NG Ao 3iR e ufEs (Fewm ot T Sfeam = offh - 1e sewie)
(2) sIfEs YR dekdiiTs afea We (3T Sfeg1 SHEh s g THIfauyF)

(3) A sirEnfies siv anfufoae wiim (Efemm sefigaa de waftfa wiw)

(4) =fera =i wu (felite senfas waifaue)

5

Options:-

«1, Option ID :- 93,
= 2, Option ID :- 94,
=« 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 1, Option ID : -93

Question ID:- 25

After the Lahore session of Congress, 26th January 1930 was declared to be celebrated as which of
the following in India ?

(1) National Unity Day
(2) Independence Day
(3) Swadeshi Day

(4) Home Rule Day

FHIUH o AR AT o &8, 26 a4, 1930 &1 YRd § f5y fo7 & w9 9 w3 s sifea o w0 ?

(1) U g feaq

(2) sl fgad

(3) el feaw

(4) M & fead
Options:-

=1, Option ID :- 97,
= 2, Option ID :- 98,
= 3, Option ID :- 99,
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= 4, Option ID :- 100,
Answer Given:- 4, Option ID : -100

Question ID:- 26

Who was given the ‘Satyajit Ray Lifetime Achievement Award’ in the 53 International Film
Festival of India (IFFI) 2022, held in 2022 ?

(1) Fernando Trueba

(2) Alejandro Amenabav
(3) Carlos Saura

(4) Julio Medem

Ty 2022 H =S 53 9§ mieig vrdra fiheq weicaa (78, Uh. U%.3TE. ), 2022 H * Fersitd ¥ @5% 2BH
SAiaHe srare’ g fezn w2

(1) WS Sl
(2) HAcISigl HAHAEE
(3) i F=

(4) Sifern Teq
Options:-

«1, Option ID :- 101,

= 2, Option ID :- 102,

= 3, Option ID :- 103,

= 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27

When was the birth anniversary of Dr. Rajendra Prasad, the first President of India observed ?
(1) 26 November 2022

(2) 30 November 2022

(3) 3 December 2022

(4) 5 Degcember 2022

qd o Teel T2ufd B, TS WETE ®i Sl fe T TS 2
(1) 26 =R, 2022

(2) 30 TEER, 2022
(3) 3 fewar, 2022
(4) 5 feqw=r, 2022
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Options:-

=1, Option ID :- 105,

= 2, Option ID :- 106,

=« 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28

Which book was awarded the Bal Sahitya Puraskar 2022 in English language category ?
(1) Ramayana for Children
(2) Mahabharata for Children

(3) Two - Epics - in- One. The Ramayana for Children (The girl who chose) and the Mahabharata
for Children (The Boys who Fought)

(4) The Forbidden Forest

ST e & # 2022 %1 a1 Wiy (R fed gEw @ yer e T
(1) THEY R fEegd

(2) HEMRT R faeed
(3) Z-ufyed ga-a, T wmmaw vk faegd (& e g =) Ue & wervra Wi faega (s sras g wie)
(4) Tg wRfTET Wi

Options:-

«1, Option ID :- 109,
= 2, Option ID :- 110,
=« 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111

Question ID:- 29

Who ranked fitst in the medal list in the 36" National Games held in Gujarat in September -
October 2022 ?

(1) Maharashtra

(2) Haryana

(3) Karnataka

(4) Service Sports Control Board
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Ted § foaweR-steEy, 2022 § SIS 36 o U @al | 9ee difcil 3 &9 Ted ®IH T @2

(1) Helreg

(2) i

(3) HAleH

(4) wfdg v #ge are
Options:-

«1, Option ID :- 113,
= 2, Option ID :- 114,
=« 3, Option ID :- 115,

= 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30

Where do we use wires that melt quickly and break when large electric currents pass through
then ?

(1)  Electric Iron

(2) Electric Fuses
(3) Electric Kettles
(4) Geysers

B9 39 O o T WA R § i e fagd e ¥ e o R e ¥ freeet 22 9K 8 2
(1) oo =t 33 (sofRs 19)

(2) oSl & TS (SafaRF BS)
(3) Tastedl =1 shaetl (3eifazsh hedl)
(4) TSR

Options:-

=1, Option ID :- 117,
= 2, Option ID :- 118,
=« 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Subject : RA_Q31-Q35_PGTCS

Question ID:- 31
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https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...

How many 2's are there in the following number sequence, each of which is preceeded and
succeeded by ‘1" ?

1211212231 3124121127227

(1) 4
2 3
3) 5
4 2

A= feu T Hemn wH H UE 12 %l Je ol © 5 | wois o qe 3R We | 1 S B2
T 2112122311202 1L1LET222

(1) 4
(2) 3
& B
(4 2
Options:-

=1, Option ID :- 121,
= 2, Option ID :- 122,
= 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 32

From his house, Atul travels 10 kms to the east. Then he turned left and covered 5 kms and then
he turned right and covered 6 kms, He turned again to his left and covered 5 kms. He then turned
to his left and covered 20 kms: Finally, he turned to his right and covered 5 kms. In which
direction is he from his starting point ?

(1) North-East

(2) South-East
(3) South-West
(4) North-West
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o9 99 ¥ G 10 o, gd & oran & fom g anff oI saan € ofR) 5 . o % § ofn st qreff i
Wa’rﬁrﬂ ﬁuaﬁw%-l "ergﬁﬂ aarﬁianﬁ ar'mw s’ﬁwﬁ ﬂum%i ftﬁwﬁaqﬁarﬁt S e

Options:-

=1, Option ID :- 125,
= 2, Option ID :- 126,
=« 3, Option ID :- 127,

= 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125

Question ID:- 33

L, M, N, O, P, Q and R are sitting in a line facing West but not necessarily in the same order.

‘0O’ is on the immediate right of ‘N’ ‘M’ is at an extreme end and has “p” as his neighbour. ‘R’ is
bertween P and Q. O is sitting third from the south end.

Who is sitting in the middle ?

1 L
(2 N
3 P
4 Q

L M,N,O, PQaﬁtRﬂﬁmaﬁaﬂt%mwwﬁﬁﬂéﬁ%ﬁﬁ&mwﬂﬁ%%l ‘O, ‘N’ %

Options:-

=1, Option ID :- 129,
= 2, Option ID :- 130,
= 3, Option ID :- 131,
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= 4, Option ID :- 132,
Answer Given:- 4, Option ID : -132

Question ID:- 34

Given below is a question followed by two statements numbered I and II, each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

Q: Whatis the code for ‘flowers’ in the code language ?

(I) : In the same code language, ‘flowers are good’ is written as ‘mot det mic’.

(II) : In the same code language, ‘they like flowers’ is written as ‘det nik shi’.

(1) The statement (I) alone is sufficient to answer the question while statement (II) alone is not
sufficient

(2) The statement (II) alone is sufficient to answer the question while statement (I) alone is not
sufficient

(3) Both statements (I) and (II) together are necessary to answer the question

(4) Both statements (I) and (II) are not sufficient to answer the question.

= wE v fen e & foes arg Q1w 1SR 11 few e § o ueie | $9 S € B s Aol
FHifere foh -9/ F2F T 1 3 a4 & e g3t 272 |

g F2 W H “flowers’ & foIT 1 e & 2

HF (I): 3 2 91 H, ‘flowers are good’Eﬁl"nmtdetmic'_;FE‘ilﬁﬁﬁlGﬂﬂT%I
FUF (II) : S F2 91 H ‘they like flowers’ %l “det nik shi’ % ®9 H fer@n i@ 2|
(1) e (I) 3T T99 o1 SR o7 o6 ot 73w © Stafs e (1) SThel T = 2
(2) R (1) 3TheT WA Rl ST o4 o el 9aTe & STaIfes e (1) T el @ |

(3) Y (T) SR (ID), S oL 08 &1 I o1 & o strereass 21

(4) e (1) 3R (1), ST W o SR < o v @ €

Options:-

=1, Option ID :- 133,

= 2, Option ID :-134,

= 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35
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In the diagram given below, triangle represents men, circle represents non-educated, square
represents sports persons and rectangle represent married.

3

12

A

5 8 J/W\

£2%

How many non - educated married women who are not sports persons are there ?
1)
(2)
(3)
(4)

O 00 N oy

Options:-
=1, Option ID :- 137,

= 2, Option ID :- 138,
= 3, Option ID :- 139,

= 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PGTCS
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Question ID:- 36

An input device which comprises of an exposed protruding ball held by a socket having sensors
for detecting ball’s rotation for capturing input is :
(1) Touchpad

(2) Track ball
(3) Pointer
(4) Sensor ball

T Y2 Teary, 59 379 %k 3 & AU did & U9 =1 9dl @ 8q U S8 alcl Hiche § TH
TS WEgfe aic Bl &, Feend ¢ :

(1) <=ue
(2) SHEd
(3) WEX
(4) HW &
Options:-

=1, Option ID :- 141,
= 2, Option ID :- 142,
= 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 3, Option ID : -143

Question ID:- 37

A word processing software bestsuited for creating documents with graphical elements like images,
text and hyper texts is :

(1) Notepad

(2) Wordpad
(3) MS-Word
(4) Note text

AW, IHRE R TEWIHZ S UThishd TEHeH & HiY SHHE T4 gq Haliysh U de-JrafET
HiRag HHA 918 ?

(1) ebe
(2) =<t
(3) THTE-TS
(4) Ae e
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Options:-

=1, Option ID :- 145,

= 2, Option ID :- 146,

= 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 38

When I connect all computers of my school together to share resources like printers, what type of
network is formed ?

(1) PAN
(2) MAN
(3) LAN
(4 WAN

el H 3794 TRl o Hefl el ) e S SHieHEi ol Wig i & ot v Wiy Siedl § d1 I 9 926k

FIAT 8 ?

(1) 9T (PAN)

(2) THTT (MAN)
(3) TATTT (LAN)
(4) ST (WAN)

Options:-

«1, Option ID :- 149,
= 2, Option ID :- 150,
= 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

Which of the following is not a cloud storage service ?
(1) Google Drive

(2) One Drive
(3) 1iCloud
(4) Hybrid Cloud

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=220424303220... 20/109
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fafafeas § 9 9 9 v oss B 9fdy @6 @ ?

(1) e gred

(2) o1 gRS

(3) 3% F=S
(4) TEfbe FTEs

Options:-

«1, Option ID :- 153,
= 2, Option ID :- 154,
= 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 3, Option ID : -155

Question ID:- 40

Bullying people online on social media, messaging platforms or gaming platforms is known as :
(1) Online bullying

(2) Cyber bullying
(3) Cyber stalking
(4) Phishing

rere Hifesn, 39S wew™ 71 A wewH W AT S &l SHHE 7 FEd § 2

(1) AR e

(2) s e

(3) ErgE w2

(4 TR
Options:-

«1, Option ID :- 157,
= 2, Option ID :- 158,
=« 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PGTCS

Question ID:- 41

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=220424303220... 21/109
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What do you mean by ‘Development’ in child’s growth ?
(1) TItis a qualitative change while child is growing.

(2) Itis a quantitative change while child is growing,.
(3) Itis an irreversible quantitative change.
(4)

4) Itis a reversible quantitative change

1A i Gafg | o’ & s @ A ¥ 2

(1) &% et i Hafg %0 ¥ Eramen o afiada 2
(2) IE A I Hhg HH H Hare qRHETes aiEdy g1
(3) UZ FGHHYIA URHIICHS UfEd &1

(4) a8 SgehHviTa it 9ftEdd g

Options:-

=1, Option ID :- 161,
= 2, Option ID :- 162,
= 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 1, Option ID : -161

Question ID:- 42

Which one of the following is not a social skill @among children ?
(1) Showing affection to friend.

(2) Sharing food with peers.

(3) Playing with children.

(4) Distribution of birthday sweets.

Freifera § | =0 SRl =1 QIS Hve @ € 2
(1) =t % gfa =g wevl

(2) THRED SR & T IS | HEAT

(3) ekl % WY WA

(4) S feq W famem famm

)

Options:-

=1, Option ID :- 165,
= 2, Option ID :- 166,
= 3, Option ID :- 167,
= 4, Option ID :- 168,

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=220424303220... 22/109
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Answer Given:- 1, Option ID : -165

Question ID:- 43

Awareness of ‘Right and Wrong’ by a child falls under :
(1) Moral domain

(2) Social domain
(3) Physical domain
(4) Emotional domain

el H TE SR Terd’ w1 sy feifea § 9 e a9 % ot S g 2

(1) =fde &=

(2) =T &3
(3) fifaes &
(4) HATHE &3
Options:-

=1, Option ID :- 169,
= 2, Option ID :- 170,
=« 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 1, Option ID : -169

Question ID:- 44

The sensory development like ‘smell” falls under which domain ?
(1) Communicative domain

(2) Adaptive domain

(3) Physical domain
(4)

4 Social domain

“gor’ S Eeel farere iR O 9 foRm &9 % siaia s § 2

(1) SY9r &
(2) STTFRE &
(3) itfass &=
(4) T &3
Options:-

«1, Option ID :- 173,
= 2, Option ID :- 174,

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...
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= 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Question ID:- 45

Which one of the following characteristic feature is prominent among *Adolescents’ ?
(1) High degree of concentration
(2) Good degree of commitment
(3) Freedom and Revolt feeling
(4)

4) Shows sympathy to everyone

Frifera § | =F € sifyeneifores fagmm ‘o’ A uga @ 2
(1) sTcaferr TR

(2) 3= W I Ydeg

(3) @ iR fagE o1 we

(4) Yoak SAfeR & 9fd FEYfa #1 9
Options:-

«1, Option ID :- 177,
= 2, Option ID :- 178,
=« 3, Option ID :- 179,

= 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46

What could be the major challenge to tackle adolescence in school ?
(1) Restlessness

(2) Low attention

(3) High degree of wisdom

(4)

4) Aggression

Tagamer 8 fereueasen &t wrensii ¥ fued § uqe gl 0 @ g g 2

(1) S

(2) = H HH

(3) = W H gg

(4)  SATHTHFRAT
Options:-

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...
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=1, Option ID :- 181,
= 2, Option ID :- 182,
= 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 2, Option ID : -182

Question ID:- 47

As a teacher, what would you suggest to a parent to deal with their children to enhance
learning ?

(1) To buy more relevant books and ask them to read.

(2) To seek counselling from experts.

(3) To spend quality time, by both parents.

(4)

4) To give them pocket money as incentive for studying.

Y F B H A9 -y 1 297 Srerei % afery gfg % deg § o g & 2
(1) @R sifees grdfies g witee 5% ded % fog e

(2) 3 fovmel @ qumel o & fag e

(3) Tme-fuan ST = = % W TUCHF FHT AT I % I e |

(4) AT F 95 GIHET & ©9 H 3% iche Tl 9 h foTd el |

1
)

Options:-

=1, Option ID :- 185,
= 2, Option ID :- 186,
= 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187

Question ID:- 48

What is secondary socialising agency ?

(1) Home

(2) Schoel
(3) Family
(4) Media

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=220424303220... 25/109
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frifera d 9 =1 faeires QTSR TSE) & 2

(1) e

(2) *hd

(3) UiEr

(4) SAEHYF HETy
Options:-

«1, Option ID :- 189,
= 2, Option ID :- 190,
= 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 3, Option ID : -191

Question ID:- 49

Which one of the following steps would enhance learning in a child ?

(1) Regular interaction of parents with teachers on a child’s activities at home.
(2) Regular PTA meetings.

(3) Promote co-curricular activities.

(4)

4) Special counselling to the child by experts.

fifra § O forg Fen & worewy ares & oaftrm § gfyg @it 2

(1) R W= F FEFad & 9 § 309§ w0 st it sl & 78 Hgae
(2) Trafad w9 § sAfvves steds S8 1 3 1 SEsH

(3) HE-URZI=Al eyl Sl GgiEr Al

(4) Toeres gr aereh] w1 ferdm Wl fean S

Options:-

«1, Option ID :- 193,
= 2, Option ID :- 194,
= 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 1, Option ID : -193

Question ID:- 50

How does home play a vital role to support school ?
(I) To guide teachers and school management.

Home can extend financial support to school.

(2)
(3) By reviewing school activities at home and offer constructive suggestions.
(4) By organising community programmes by children.

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...
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fogamera &1 T&am €4 # T #i Y UeR 9 qeegol fiem § 2
(1) SIAIHdS AR foene & YaEA & aree

(2) =R 9 fowmer =i fomira werEd <t 1wl @

(3) ¥R WX faermerd i nfafafemt ot Feten st iR ThaeTE I <o
(4) SRl BRI HHETHE HIsH] Sl STENH X

Options:-

«1, Option ID :- 197,
= 2, Option ID :- 198,
=« 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Question ID:- 51

It is the responsibility of which of the following socialising agencies to provide happy and positive
growing environment for effective learning :

(1) Media
(2) School
(3) Family
(4) Teachers

gl sferm o fog gEg @R wErcasd fae™ &1 AEd YeH e %l e Feifed § 9 feg

(1) SFEER A
(2) fogEmer
(3) UfER
(4) STEATTHIS
Options:-

=1, Option ID :- 201,
= 2, Option ID :- 202,
=« 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 3, Option ID : -203

Question ID:- 52
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What are the ‘Developmental tasks’ in a child’s growth ?

(1) The activity performed by a child

(2) The skill which is demonstrated during childhood.

(3) Learning of life skills at the appropriate time and stage of childhood
(4) The task to be accomplished at early childhood

d1eTe i Hafg H fasmarcas @ #1 § ?
(1) = g/l feurfed shriswem

(2) e H YESH v

(3) SUIH FHF H AR IS F Hel =90 § Siad Hee i S
(4) SRfveF TR § qU feu SHae w5

Options:-

=1, Option ID :- 205,
= 2, Option ID :- 206,
= 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53

Which one of the following could be attributed to psycho-motor domain of a child ?
(1) Feeling

(2) Thinking
(3) Cycling
(4) Crying

freifera & 9 frd S & 7afae &3 & 931 € S 9l § 2

(1)  wrer
(2) fee
(3) HEfHd FaAH
(4) I

Options:-

=1, Option ID :- 209,
= 2, Option ID :- 210,
=« 3, Option ID :- 211,
= 4, Option ID :- 212,

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...
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Answer Given:- 2, Option ID : -210

Question ID:- 54

The following example could be related to cognitive learning of a child :
(1) Exploring types of plants in garden

(2) Dancing
(3) Singing
(4) Crying

fr=ifera © 9 fory SSeTw =6l et & HaHeas SiftrH 9 Heg fmar s s ® 2
(1) =Ff= § 9189 &% YR 1 qa1 T

(2 T
(3) A
(4 T
Options:-

«1, Option ID :- 213,
= 2, Option ID :- 214,
=« 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 1, Option ID : -213

Question ID:- 55

Adolescence is the phase between :
(1) 15 - 20 years
(2) 18- 21 years
(3) 10- 19 years
(4)

4) 21 - 25 years

fepstreren freifha § 9 form 51 ol &1 el o € 2
(1) 15¥ 2039 & &=

(2) 18¥ 2154 & &=

(3) 10919 a4 & ==

(4) 2192594 % &=
Options:-

«1, Option ID :- 217,
= 2, Option ID :- 218,
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= 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 1, Option ID : -217

Subject : UTL_Q56-Q70_PGTCS

Question ID:- 56

The change in behaviour is commonly known as :
(1) Understanding

(2) Thinking

(3) Learning

(4) Feeling

(1) H4=
(2) fE@
(3) @fermH
(4) SHYM
Options:-

«1, Option ID :- 221,
= 2, Option ID :- 222,
= 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 1, Option ID : -221

Question ID:- 57

‘Learning’ is a mental activity comes under :

(1) Behavioural theory of learning
(2) Constructive theory of learning
(3) Connective theory of learning
(4) Cognitive theory of learning

‘Afirm ! T gEfaE TR © ) e Frifea § O frger eteaiq e € 2
(1) Afer 1 FreRRcES fagid

(2) s 1 TEARTS fEEid

(3) ™ 1 Hesr g

(4) frT 1 HareRs fagid
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Options:-

=1, Option ID :- 225,

= 2, Option ID :- 226,

=« 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 4, Option ID : -228

Question ID:- 58

The student-teacher relationship is better in :
(1) Constructivism

(2) Behaviourism
(3) Cognitivism
(4) Connectivism

Taeneff - srearues dey freiteg 8 4 ol Sed 2 22

(1) EAER

(2) SHEEREE

(3) HIAFRHFAES

(4) HHFERE
Options:-

=1, Option ID :- 229,
= 2, Option ID :- 230,
=« 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 4, Option ID : -232

Question ID:- 59

How could learning be enhanced in classroom ?
(1) Through motivation

(2) Through frequent testing
(3) Humour
(4) Through drilling

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=220424303220... 31/109
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e § fenmy S SEE S TRl § 2
(1) =99 & e 9

(2) SR-ST SHIE0T o HIETH

(3) BE S HeEH |

(4) @R 9% HEAH H

2

Options:-

«1, Option ID :- 233,
= 2, Option ID :- 234,
= 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

Response Sheet

Question ID:- 60

(1) Support and remediation
Measurement of learning level

2)
(3) Evaluation of understanding
(4)

Ea R | oo A e e e
(1) & iR wmEmE

(2) ST W AT HIOH

(

(

3) HHH H YAk
4)  drers S YA Al

Options:-

=1, Option ID :- 237,
= 2, Option ID :- 238,
=« 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

To know the progress of the child.

What is the significance of “Assessment’ in classroom ?

Question ID:- 61

What is ‘Summative assessment’ ?

Carried out every month

(2)
(3) Paper - pencil test
(4) Oral test every day

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...
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HTERATH HedidT (T8 T) 18 ?

(1) =8 geaisa Deaforen ad & sfa § foman san 21
(2) I® HEAEA Yodeh Hig H fohan S €

(3) ¥R FHITI-UfHA Wiam 2

(4) F8 gfafed fern Sirarern Hifgs gdem 2|

Options:-

«1, Option ID :- 241,
= 2, Option ID :- 242,
= 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241

Question ID:- 62

What could be the demerit of using ICT tools in classroom ?
(1) Impairment of independent thinking
Costly tools

@
(3) Late bloomers can not understand.
(4)

Children will be addicted to technology.

FHE1 H I AR GO TR o SR & W 61 F S 8 Hehdl ¢ 7
(1) T@da foas uferan staeg 21 s |

(2) & SYHTT HEA E |

(3) facia ¥ faerfid 21 Al areis sH Wead | & 999 9ahd ¢ |
(4) STeTshi 1 WrEnfrR A T3 o T S |

Options:-

=1, Option ID :- 245,
= 2, Option ID :- 246,
=« 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 4, Option ID : -248

Question ID:- 63
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Which one of the following could be Audio- Visual instructional material in classroom ?
(1) Radio

(2) Television
(3) Text books
(4) Calculators

fr=ifera & 4 =0 wen § go3-gva Toreror grelt 2 Tt © 2

(1) e

(2) ZefifasE

(3) UIGAYKH

(4) FEF (HTIF)
Options:-

=1, Option ID :- 249,
= 2, Option ID :- 250,
=« 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64

What is the purpose of “Year plan’ in schoel ?

(1) To execute goals smoothly

(2) To recruit teachers in time

(3) It provides direction foractionto achieve fixed goals
(4)

4 To rationalise financial resources

forrmer # “anfifer s’ =1 321 93 € 2

(1) &1 ] Gae ®9 H HEF=ET

(2) |HT G AR Bl Tl

(3) zEd Fuifta @ei &t wifta g =/ & forg fown g 2t 21
(4) Torita HHmeEl w1 gRRgeH A

Options:-

=1, Option ID :- 253,

= 2, Option ID :- 254,

= 3, Option ID :- 255,
= 4, Option ID :- 256,
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Answer Given:- 3, Option ID : -255

Question ID:- 65

schools :
(1) Functional Literacy and Numeracy
2

(2)
(3) Universalisation of Elementary Feducation
(4)

Foundational Literacy and Numeracy

Free and Compulsory Education till class VIII

STER 92 g4 T S € 2
(1) YehMETcHe TIERal SR H&IE
(2)  gfe TR o iR HereE
(3) gfvae foan = g
(4) smedl Fel ak fyesw ofi sifrard faren
Options:-
=1, Option ID :- 257,
= 2, Option ID :- 258,

=« 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

According to ECCE in NEP-2020, the following needs to be achieved on priority in primary

Tty foen ifd 2020 9 % & Hi € & SgER wufae fome § feifea 9 9 fea sden A wafaera

Question ID:- 66

What could be the better learning space in classroom ?
(I) Non-threatening and supportive environment
(2) Efficient teachers

(3) Classroom with good ventilation

(4) ICT tools

e H St ST Toe o B Hehdl & ?

(1) P iR 92 ORE

(2) TS FEAIF

(3) IUH AETIH HET

(4) FE SR FER WEifTe & @
Options:-
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=1, Option ID :- 261,
= 2, Option ID :- 262,
= 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 1, Option ID : -261

Question ID:- 67

Which one of the following could be the barrier of learning ?
(1) Fear of failure

(2) Poor ventilation

(3) Noisy surroundings
(4)

4) Aggressive principal

freifera & 9 = AR o 9 2 JRa e ?
(1) STIFEd H1 93

(2) @UE e
(3) WRFH R
(4)  SABRTHE Y=
Options:-

«1, Option ID :- 265,
= 2, Option ID :- 266,
= 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 1, Option ID : -265

Question ID:- 68

learning ?

(1) Constructive learning
(2) Experiential learning
(3) Project based learning
(4) Experimental learning

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...
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e weifasm o ST99R SAfur % Gaeda o fou frife § 9 0 gdim femo fafy 82
(1) TEEmeEr iy

Options:-

«1, Option ID :- 269,
= 2, Option ID :- 270,
=« 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69

What is the role of teachers in constructive learning ?
(1) Imposes conditions on learners
Open end questions are given to learners

4

(2)
(3) Gives freedom to learners
(4) Dictates terms with learners.

AT SifeRTH H S1eraes i e yfte 82
(1) 389 sfermaeral T 9 STEARIfad el Sl ¢ |

(2) ==H sty =1 owim yeR few sm €
(3) =HH sAfurTHERGl Sl Tl of S 6
(4) =HH TRl W STERA I AT SR S |
Options:-

«1, Option ID :- 273,
= 2, Option ID :- 274,
=« 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70

The teacher controls the environment in :
(1) Behaviourism

(2) Cognitivism
(3) Naturalism
(4) Realism

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...
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e fA=iferd o 9 forad gafarn =6 fHfm s € 2

(1) =HaERER
(2) HAHEE
(3) WpfdER
(4) FedaErE

Options:-

«1, Option ID :- 277,
= 2, Option ID :- 278,
=« 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 4, Option ID : -280

Subject : CCLE SOL PE_Q71-Q80_PGTCS

Question ID:- 71

‘Cerebral Palsy” a kind disability comes under :
1) Intellectual disability

2) Mental disability

)  Physical disability

) Sensory disability

%)

4

— e — —

yuiETshg Y (EEd edT) T YR &1 faer 8| 98 fifea § 9 forder siavla o1 & 2

(1) difgs F:eeam

(2) HHEH 9w

(3) wRITE e

(4) Heg Hefe e
Options:-

=1, Option ID :- 281,
= 2, Option ID :- 282,
= 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 1, Option ID : -281

Question ID:- 72
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¥

ysgraphia’ is characterised by :

(1) Poor learning

(2) Poor vision

(3) Poor hand writing
(4) Poor speech

‘Temmfra' & w sifiga €2
1) T 3AfeEm

(

(2) o e

(3) W forgmEe
(4) TE AR
Options:-

=1, Option ID :- 285,
= 2, Option ID :- 286,
=« 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73

What is the role of teacher while teaching disabled children ?

(1) Resort to Tailor made teaching techniques to suit disabled children.
(2) Special classes separately for disabled.

(3) Special incentives for disabled.
(4)

4)  Special furniture to be arranged for disabled.

e STl o 78R H SASATIE i T TR § 2

(1) feegim Arctsnl & ST9e JH1 18 STEA19H deh-leh 1 ST19d oA
(2) e ae o fer eter 9 faem weasl 1 AEeH

(3) Teeain areei % forg fas dieares

(4) Teeai stemehi < feru fomre W= =i sqemen

Options:-

=1, Option ID :- 289,
= 2, Option ID :- 290,
=« 3, Option ID :- 291,
= 4, Option ID :- 292,

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...
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Answer Given:- 1, Option ID : -289

Question ID:- 74

What is School Development Plan ?
(1) Plan for School Architecture
(2) Document for Academic Plan

(3) Road Map that sets out for success of school
(4

Guide to implement strategies

feremera faere dem 1 2

(1) Toremer =it argewen & d&y § e

(2) DT A GeHl SRIes

(3) Tearermera &1 werar & fore Fuifa arigfen
(4) FHEATTE o HETEEA & ARGYH
Options:-

«1, Option ID :- 293,
= 2, Option ID :- 294,
= 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75

Normally what type of Time-Tables are prepared in schools ?
(1) Home work Time Table

(2) Sports Time Table

(3) Class Time Table and Teacher Time Table

(4) C.C.A. Time-Table

foemeral 9 gmr=raen Y YR &1 9ua-aifesr] 99R &i Sl & 2
(1) 7% A T57 "Rt

(2) IS TAY FROH

(3) el THA WRUN R S1ENE FHA FIROT

(4) He U= foramsdi s wmg wwe
Options:-

«1, Option ID :- 297,
= 2, Option ID :- 298,

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=220424303220... 40/109



3/7/23, 3:29 AM Response Sheet

= 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76

Which one of the followings would form bridge between School and Home ?
(1) Non-Governmental Organization

(2) Parent Teacher Association

(3) Naftional Social Service
(4)

4) National Cadet Corps

freifera 9 9, 1 faened ik 78 & &= 9y 1 % 0T ?
(1) 7 TR HTed

(2) AfsTEE SAEATE HH

(3) U FHS Ta (T, TH, TH.)

(4) UL FHS2 FR (T W)

2

Options:-

«1, Option ID :- 301,
= 2, Option ID :- 302,
=« 3, Option ID :- 303,

= 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Question ID:- 77

What is the role of ‘Morning Assembly’ in child’s development ?

(1) It influences positively on child to develop social value and self-esteem
(2) Promotes discipline

(3) Place for disseminating information

(4)

4) Promotes Punctuality

T o for | CUT STl e’ e e # 2

(1) 9 9IS god 3R -9 fashfad =37 § sl T ShRehes Y99 vEd 2
(2) THH SAEA HI Tl e €

(3) % G YEIRG T ohl €I |

(4) =99 g3-Freed i s fiem €

Options:-
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=1, Option ID :- 305,
= 2, Option ID :- 306,
= 3, Option ID :- 307,

= 4, Option ID :- 308,
Answer Given:- 1, Option ID : -305

Question ID:- 78

What is ‘Balavatika’ Programme envisaged in NEP-2020 ?
(1) Learning of a child after 5 years of age.

(2) The learning of a child prior to the age of 5.

(3) Learning of a child in primary section.

(4) Learning of a child up to class VIIL

e faren Hifa, 2020 9 uftewfoqq ‘ areanfes’ wrisy &1 & ?

(1) 599 =i 3 % JL=q arcish/alfesn &1 iy

(2) 594 =l A Ud HH Y Y Srerh/aTiash] 1 ey
(3) W e | ArerEh/afersh 1 SAfHTH

(4) SAISE] HE R scth/aTern H Afm

Options:-

«1, Option ID :- 309,
=« 2, Option ID :- 310,
=« 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 79

2020.
(1) ICT interface with Teaching
(2) Digital Platform for students

Education.

(4) Digital Platform for competitive examinations

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...

What is the aim of “DIKSHA" [Digital Infrastructure for Knowledge sharing] proposed in NEP

(3) Technological Intervention to achieve Foundational Literacy and Numeracy in Primary
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et T =ifa, 2020 ¥ wenfaa <len (fesied SwRgaet R Alerst i) o1 &1 @8 ¥ 2

(1) 1A § g1 AR F=9R it & o1 d@ima (320R)

(2) foenfefai @ fere fesfled wiew™

(3) wafhes formerdi § it Fard s Hea=E 1 6 d WK & o fau g sway
(4) iR gdensti & foe fesiea wewd

Options:-

«1, Option ID :- 313,
= 2, Option ID :- 314,
=« 3, Option ID :- 315,

= 4, Option ID :- 316,
Answer Given:- 3, Option ID : -315

Question ID:- 80

Who applied ‘Pragmatism’ in Education ?
(1) Watson

(2) Rousseau
(3) Hegel
(4) John Dewey

Toren & &3 9 ‘HEwie fagia’ (Umafes). & gfques & 9 2

(1) aresd
(2) &
(3) =™
(4) A 4
Options:-

«1, Option ID :- 317,
= 2, Option ID :- 318,
=« 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 4, Option ID : -320

Subject : CS_Q81-Q180_PGTCS

Question ID:- 81
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Which of the following is not hardware of a computer system ?
(1) KEYBOARD

(2) PRINTER
(3) OPERATING SYSTEM
(4) MOUSE

Frfafed 5 9 %M o UF Froge gt () &1 ged® 78 ¢ 2
(1) KEYBOARD

(2) PRINTER
(3) OPERATING SYSTEM
(4) MOUSE

Options:-

=1, Option ID :- 321,
= 2, Option ID :- 322,
= 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

Which out of the following is the least capacity of memory unit compared to other options ?

(1) MB
(2) KB
(3) GB
(4) TB

Trefafas 5 9 freesrt 9aRl gfe &1 e 77 faskedi 1 go § 9o FH 8 7

(1) MB
(2) KB
(3) GB
(4) TB
Options:-

«1, Option ID :- 325,
= 2, Option ID :- 326,
=« 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 2, Option ID : -326

Question ID:- 83
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A collection of 4 bits is known as

() BYTE

(20 WORD

(3) NIBBLE

(4) K.BYTE

4 fo=m & 9 g + FN FEA B ?
(1) BYTE

(2) WORD

(3) NIBBLE

(4) K.BYTE

Options:-

=1, Option ID :- 329,
= 2, Option ID :- 330,
= 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 3, Option ID : -331

Question ID:- 84

While working on computer, if we open a document in MS OFFICE WORD, which of the following
is used ?

(1) RAM
(2) ROM
(3) BIOS
(4) 1/0 BUS

T HFYZL W HM Hid T9F A T9 MS OFFICE WORD H #IE ElegHe Eied ¢ i F=fafaa # 4
ot v fora el & 2

(1) RAM

(2) ROM

(3) BIOS

(4) I/O BUS
Options:-

«1, Option ID :- 333,
= 2, Option ID :- 334,
=« 3, Option ID :- 335,
= 4, Option ID :- 336,
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Answer Given:- 1, Option ID : -333

Question ID:- 85

is not an operating system.

(1) UNIX

(2) WINDOWS
(3) ANDROID
(4) MS OFFICE

fafafas 9 9 %9 91w i fey == 8 2

(1) UNIX

(2) WINDOWS
(3) ANDROID
(4) MS OFFICE

Options:-

«1, Option 1ID :- 337,
= 2, Option ID :- 338,
=« 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 4, Option ID : -340

Question ID:- 86

What will be the result of the following Beeolean expression ?
NOT True OR False AND True

(1) False

(2) True

(3) Error in Expression

(4) No result

Freafafes geiia s =1 uftom == g ?
NOT True OR False AND True

(1) False

(2) True
(3) Error in Expression
(4) No result

Options:-
=1, Option ID :- 341,
= 2, Option ID :- 342,
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= 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87

Which Boolean expression is correct interpretation of the following logic circuit ?

o

(1) (X+Y)
2 XYy
(3) X@Y
(4) (X@Y)

Tr=fafad oo aftay (s wfhe) i W& =are are geid A hid 91 8 ?

(1)

(2) (X-Y)

(3) XeY

(4) (XeY)
Options:-

«1, Option ID :- 345,
= 2, Option ID :- 346,
= 3, Option ID :- 347,

= 4, Option ID :- 348,
Answer Given:-_3, Option ID : -347

Question ID:- 88

Which of the following represents Absorption Law correctly ?
(1) X+YZ=(X+Y)(X+2Z)

(2) X+XY=X
(3) (X+Yy=XY
(@) (X-X)'=X

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...
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frafafas 3 9 @ 91 ey 99 (Tsarw[ @) i 98 ®9 9 fEiud i 8 ?
(1) X+YZ=(X+Y)(X+2)

(2) X+XY=X
3) X+Y)=XY
4 (X-X)'=X
Options:-

=1, Option ID :- 349,
= 2, Option ID :- 350,
=« 3, Option ID :- 351,

= 4, Option ID :- 352,
Answer Given:- 2, Option ID : -350

Question ID:- 89

Which of the following is exact equivalent of given binary number in Octal Number ?

(101110001011),
(1) (232023),
() (ABA)g

(3) (561%)23

(4) (3165)4

Frefafaa | 4 %M | Hen e Se | 1 fgenurdt wen & facga 'Hged § 2
101110001011),

(232023),

(ABA)q

(5613)q
(3165)g

=] 2

)

(
(1)
(2)
(
(4)

i

Options:-

«1, Option ID :- 353,
= 2, Option ID :- 354,
=« 3, Option ID :- 355,

= 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...
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What is full form of ISCII encoding scheme ?

(1) Indian Standard Code for Interchange of Information
(2) Indian Standard Code for Information Interchange
(3) Indian Standard Coding for Information Interchange
(4)

4) Indian Scheme of Coding for Information Interchange

E U H o7 AR TAITET =he w1 fawga aitem R 2

(1) Indian Standard Code for Interchange of Information
(2) Indian Standard Code for Information Interchange
(3) Indian Standard Coding for Information Interchange
(4) Indian Scheme of Coding for Information Interchange

Options:-

=1, Option ID :- 357,
= 2, Option ID :- 358,
= 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Question ID:- 91

Which of the following cannot be registered under cyber crime ?

(1) Sending pornographic material online

(2) Stealing of brand new internet routers from a showroom

(3) Accessing CCTV camera of a private company without their knowledge
(4)

4 Sending threats on social media accounts

Frafafed 8 9 fFg el 1 9EsR 3Ty % q8d <l TEl TR S Hehdl § 2
(1) SR SFgefer Fra Js

(2) Tl 9I-FH | Tk 71 §e1e U3 AR HEl
(3) Tl gEaE FOT T SRR o fo S T 9 2t o ShEY 1 T
(4) Hroel HifeT seRise g yHh] sl

Options:-

«1, Option ID :- 361,
= 2, Option ID :- 362,
= 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 3, Option ID : -363

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=220424303220... 49/109
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Question ID:- 92

Which of the following is an example of a very strong password ?

(1) STRONG
(2) abcl234

(3) admin

(4) Ap9#2@cQ

frafafad 9 9 #F 91 T 9gd Heie IHas & SeRd § 2

(1) STRONG

(2) abcl234

(3) admin

(4) Ap9#2@cQ
Options:-

=1, Option ID :- 365,
= 2, Option ID :- 366,
=« 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93

Which of the following protocol is used to upload and download files from remote
server/computers ?

(1) SMTP
(2) VoIP
(3) HTTP
(4 FIP

e weywrger § HEe ele i gEaere & fau fFefafad ° 4 feg dierre w1 g=@m
SR ?

(1) SMTP
(2) VaoalP
(3) HTIP
(4 FTP
Options:-

=1, Option ID :- 369,
= 2, Option ID :- 370,
=« 3, Option ID :- 371,
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= 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Response Sheet

Question ID:- 94

network is established in the campus ?

(1) PAN
(2) MAN
(3) LAN
(4 WAN

(1) PAN
(2) MAN
(3) LAN
(4) WAN
Options:-

=1, Option ID :- 373,
= 2, Option ID :- 374,
= 3, Option ID :- 375,

= 4, Option ID :- 376,
Answer Given:- 3, Option ID : -375

Garuda Skill Education has set up their new skill training campus in a place near Pune. The
campus has three close by buildings connected with each other using CAT6 cable. Which type of

TEE kel TSHYH F YUl o ASiale U T4F Y 91 991 fosrer 2 sheay wenfia feran 21 Frow © 19
Forareh! fafeet € Sit CAT6 had | 3779d § Je&1 g5 © | F7d H o YR &1 Jeash wfa foran man € 2

Question ID:- 95

Which of the followingis not a Network device ?

(1) Switch
(2) Router
(3) Hub
(4) RAM

Frefafad § 4 =0t Jead feary 78 &2

() fe=

(2) WA

(3) =

(4) SRTTH RAM)
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Options:-

«1, Option ID :- 377,

= 2, Option ID :- 378,

=« 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

Which of the following wired medium will be able to have highest speed data communication
possible ?

(1) Single pair telephone cable

(2) Fiber optic cable

(3) Co-axial cable
(4)

4) Twisted pair cable

Trfafed § 4 form TR wreag o gr1 S=aad i S |90 H9e 2
(1) THS FH EE Fad

(2) WEE HAZH FHaa

(3) HHIE (FHI-UfFEe) Had

(4) =HEfdd (fafee) Faa

Options:-

«1, Option ID :- 381,
= 2, Option ID :- 382,
=« 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 3, Option ID : -383

Question ID:- 97

Which of the following is an invalid IP address ?
(1)  100.0.10:32

(2) 255.255:255.10

(3) 192.168.10.15

(4) 256.10.12.5
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Frfafad § 9 = 91w a4 & 0t (IP) TSH 7Tl 8 2

(1)  100.0.10.32

(2) 255.255.255.10
(3) 192.168.10.15
(4) 256.10.12.5

Options:-

=1, Option ID :- 385,
= 2, Option ID :- 386,
=« 3, Option ID :- 387,

= 4, Option ID :- 388,
Answer Given:- 2, Option ID : -386

Question ID:- 98

What is full form of ARPANET ?

(I) Advancement of Research Project Agency Network
(2) Advanced Research Project Agency Network

(3) Add on Research Project Agency Network
(4)

4) American Research Project Agency Network

THR W T TA§ & (ARPANET) &1 Q1 19 &1 & ?
(1) Advancement of Research Project Agency Network

(2) Advanced Research Project Agency Network
(3) Add on Research Project Ageney Network
(4) American Research Project Agency Network

Options:-

=1, Option ID :- 389,
= 2, Option ID :- 390,
= 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 1, Option ID : -389

Question ID:- 99

Which of the following is not an example of cloud computing services ?

(1) SaaS
(2) IlaaS
(3) PaaS
(4) SaaP
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Frafafad | 4 #F 9 FaRe FEfe Aidas &l TF ke T ¢ 7

(1) SaaS
(2) IaaS
(3) PaaS
(4) SaaP
Options:-

«1, Option ID :- 393,
= 2, Option ID :- 394,
= 3, Option ID :- 395,

= 4, Option ID :- 396,
Answer Given:- 4, Option ID : -396

Question ID:- 100

Which of the following is not an application of Al ?
(1) Chat Bot

(2) Financial Accounting System
(3) Driverless Car
(4)

4 Face Recognition System

Frefafaa § @ 70 © ond (Al) FY T ety 78 &7
(1) =2 @ (Chat Bot)

(2) wrRARME swRisfin faen

(3) SEEEH X

(4) H fefee e
Options:-

=1, Option ID :- 397,
= 2, Option ID :- 398,
= 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Question ID:- 101

(1) none
(2) False
(3) true
(4) For

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...

Which of the following is an invalid identifier in Python Programming Language ?
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TEgE Yrnfun ovas § fefafag § 9 6 9 UF 97 e fwe § 2

(1) mnone

(2) False

(3) true

(4) For
Options:-

=1, Option ID :- 401,
= 2, Option ID :- 402,
= 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102

Which of the following is not a valid operator in Python ?

@ =>
3 //
TERT

qEeH § freEfafad § 9 S5 91T g A0 6@ 22

1 ==
(@ =>
3 //
(4) *+
Options:-

=1, Option ID :- 405,
= 2, Option ID :- 406,
= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...
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Identify the correct output of the following Python arithmetic expression :
1+(2-3) «4x«5//6

1y =17t
2) 172
3) —170
(4) 170

frefafed amem st =ies % T8 1Sy 1 gg=H Fife
1+(2-3)*4%%5//6

(1) —171
(2) 172
(3) - 170
(4) 170
Options:-

=1, Option ID :- 409,
= 2, Option ID :- 410,
= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 3, Option ID : -411

Question ID:- 104

Evaluate the following expression :
not True or not False and False

(1) True
(2) False
(3) None
(4) will generate an Error

Frefafad e & 99 4w
not True or not False and False
(1) True

(2) False

(3) None

(4) will generate an Error

Options:-
=1, Option ID :- 413,
= 2, Option ID :- 414,

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...
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= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414

Question ID:- 105

Identify the correct output of the following Python Command :
print (10 or 40)

(1) 10
(2) 40
(3) 50
(4) 400

Frfafad gmeE FHiE % &t SA82Ye Fl 989H Fife
print (10 or 40)

(1) 10
(2 40
(3) 50
(4) 400
Options:-

=1, Option ID :- 417,
= 2, Option ID :- 418,
= 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

Identify the correct output of the following Python program segment ?
Pi=3.141592
print ('%.4f' %Pi)

(1) 3.14

(2) 3.1415
(3) 3.1416
(4)  3.0000

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...
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Frafafad T=em TR Sz F T8 SR $ UEHH Hifa

Pi=3.141592
print (‘%AE‘ % P1)
(1) 3.14

(2) 3.1415

(3) 3.1416

(4) 3.0000
Options:-

«1, Option ID :- 421,
= 2, Option ID :- 422,
= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107

Which of the following is immutable data type in Python ?

(1) Set

(2) List

(3) Tuple

(4) Dictionary

TEgE H stafiadta (Tegead) e erd frefafad 6 9 &b | g ?

(1) Set

(2) List

(3) Tuple

(4) Dictionary
Options:-

=1, Option ID :- 425,
= 2, Option ID :- 426,
= 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 1, Option ID : -425

Question ID:- 108
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If we have 2 Python lists as follow :

Listl =[10, 20, 30]

List2 = [40, 50, 60]

If we want to generate a list List3 as

List3=[10, 20, 30, 40, 50, 60]

then best Python command out of the following is :
(1) List3=Listl + List2

( List3=Listl.append (List2)

(3) List3 = Listl.update (List2)

(4) List3=Listl.extend (List2)

Tfe gan 9™ = T 2 9EeH (Python) o= €
List1 =[10, 20, 30]

List2 = [40, 50, 60]

7fg 79 U R foe List3 giea 3 =9ed €
List3=[10, 20, 30, 40, 50, 60]

at frefafes o 9 gatem 9=es Foie iE O @t ?

(1)  List3=Listl + List2

(2) List3=Listl.append (List2)
(3) List3=Listl.update (List2)

(4) List3=Listlextend (List2)

Options:-

«1, Option ID :- 429,
= 2, Option ID :- 430,
= 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109

Identify the correct output of the following Python code :
L=[3;3,22,1,1]

L.append(L.pop(L.pop()))

print(L)

(1Y 32,2 1, 3]
(2 [35223]
(3) [,L 2,2,1]
(4) [1,1,2,2 3, 3]
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Trafefad qrRIeF e & Wl ey Hi TFaH Hify

L=18;3, 2 2,1,1]

L.append(L.pop (L.pop()))

print(L)

1y [6:2:2 1 3]

2y 38,2 2 3]

(8) [1,3,2; 2 1]

4 [1,1,2, 23, 3]
Options:-

=1, Option ID :- 433,
= 2, Option ID :- 434,
= 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 4, Option ID : -436

Question ID:- 110

Identify the output of the Python Command :
print(22.0/ /5)

(1) 4.4
2) 4
(3) 4.0
(4 2

& TS T FHE * IR I UEHH S ;
print(22.0/ /5)

(1) 4.4
(2) 4
(3) 4.0
4 2

Options:-

=1, Option ID :- 437,
= 2, Option ID :- 438,
= 3, Option ID :- 439,

= 4, Option ID :- 440,
Answer Given:- 2, Option ID : -438

Question ID:- 111
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Find the output of the following Python code :
L1=[1, 4, 3, 2]

L2=L1

L1-sort( )

print (L2)

(1) [1,4, 3 2]
2y [1,2,3 4]
(3) 1432
(4) 1234

Frafafad T=em #1e % 21=eyE 1 9d T
L1=[1,4,3, 2]

L2=11

L1-sort( )

print (L2)

(1) [1, 4,3, 2]
(2 [1,2, 3, 4]
(3) 1432
(4 1234
Options:-

«1, Option ID :- 441,
= 2, Option ID :- 442,
=« 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 2, Option ID : -442

Question ID:- 112

If PL is a Python list as follow :

PL=["Basic’, ‘G, “C%+']

Then what will be the status of the list PL after
PL.sort (reverse =True) ?

(1) [‘Basic, 'C’, ‘C++']

(2) [C++,'C, ‘Basic’]

(3) ['C, ‘C++, ‘Basic]

(4) [Basic’, ‘C++, 'C']

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...

61/109



3/7/23, 3:29 AM Response Sheet
7fg U YA fose PL 791 UeR ¥ -

PL=["Basic’, ‘C’, ‘C++]

@

PL.sort (reverse = True) @ J¥=Td @i TEerel a1 BRI 2
(1) [Basic, ‘C’, ‘C++]

(2) [[C++,°C, ‘Basic’]

(3) [C, 'C++, ‘Basic]

(4) [‘Basic’, ‘C++’, "C’]
Options:-

=1, Option ID :- 445,
= 2, Option ID :- 446,
= 3, Option ID :- 447,

= 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113

Identify the correct output of the following Python program.
CHARR=[['A’, ‘B], [C, ‘D], [E’, ‘F]]

print(CHARR [1] [1])

L A
2 ‘B
(3) “e
4 D

Frefarfad T=em Tom % Hel S8eYe i 9g=H Hifey :
CHARR=[['A’, ‘B], [C,“D), ['E, ‘F]]
print(CHARR [1] [1])

(H A
(2) B
@
(4 D
Options:-

«1, Option ID :- 449,
= 2, Option ID :- 450,
=« 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 4, Option ID : -452
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Question ID:- 114

The following Python list S is implemented as a stack.
S=[10, 12, 0, 4, 6]

If 10 is the element added (pushed) last into the stack S, which command from the following
option is best to remove (pop) an element from the Stack S, if not empty.

(1)  S.pop(0)
(2)  Spop()

(3) S.remove( )

(4) S.remove(0)

Tfafead T=em fawe S %l U stack % ®9 H wif-ad feran T 2|

S=[10, 12, 0, 4, 6]

Afe stack S H 10 TeltHe &1 &7 # sirgl () 70 ¢ o Frfefad fased 5 3 #F o #7078 stack S 761
Qrefl 9 81, § TeltHe &Rl 82H (pop) 8 HaRH € ?

(1)  S.pop(0)

(2)  S.pop()
(3) S.remove( )
(4) S.remove(0)

Options:-

=1, Option ID :- 453,
= 2, Option ID :- 454,
= 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115

Traditionally the end .of a stack from where PUSH (additional) and POP(deletion) take place,
popularly knownas :

(1) FRONT
(2) TOP
(3) LIFO
(4) FIFO

YT B9 § foRe 0 (Stack) % 2 ¥ @i ¥ PUSH (Sig) 3R POP (fareiia) a1 8, #741 sheeim & 2

(1) FRONT
(2) TOP
(3) LIFO
(4) FIFO
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Options:-

=1, Option ID :- 457,
= 2, Option ID :- 458,
= 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

Question ID:- 116

Identify the correct output of the Python code :

L1=[1, 2, 3]
L2=[4, 5]
L3=16, 7]

L1.extend(L2)
Ll.append(L3)
print(L1)

2 [12
3 [1.2,3.45 N7H
4 [12

YA IS & Hel 32Y2 Fi Y8 oy
L1=[1, 2 3]
L2=[4, 5]
L3=[6, 7]

L1.extend(L2)
L1l.append(L3)

print(L1)

(1) [1,2,3, 4,5, 6:7]

(2 [123 4567
(3) [1.2,3 H5% 7]
(4 [1 2.3, [%5] [6 7]
Options:-

=1, Option ID :- 461,
= 2, Option ID :- 462,
= 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 2, Option ID : -462

Question ID:- 117
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Identify the correct output of the Python code :
TUP=([1, 2], [3, 4], [5, 6])

TUP[2] [1]=8

print(TUP)

(D ([, 2], [8 4] [5 6])

(2 ([L2], [3 4] [8 6])

(3 ([12] [3 4] [5 8]
(4)

4)  will generate an error as a Tuple is immutable

A9 IS o Hel 332YE Tl UgdH Iy :
TUP=([1, 2], [3, 4], [5, 6])
TUP[2] [1]=8

print(TUP)
() ([1, 2], [8 4], [5, 6])
2) ([, 2], [3 4] [8 6])

(2)
(3) (I3 21, [3 4] [5 8])
(4) T Iz (TW) 3= HET Fifh Tuple TIEF &

Options:-

=1, Option ID :- 465,
= 2, Option ID :- 466,
= 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 3, Option ID : -467

Question ID:- 118

Identify the output of the following Python program segment :
S="Python Programming’

L=S.split( )

S=",join(L)

print(S)

(1) Python Programming

(2) Python, Programming
(3) ,Python Programming,
(4) ,Python, Programming,
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et weem drm S % eeye Il wEH i ;
S=‘Python Programming’

L =S.split( )

S="join(L)

print(S)

(1) Python Programming
(2) Python, Programming
(3) ,Python Programming,
(4) ,Python, Programming,

Options:-

=1, Option ID :- 469,
= 2, Option ID :- 470,
= 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470

Question ID:- 119

If S="python language’ is a Python string, which of the following command will display the
following output with ‘P’ in upper case and remaining in lower case ?

(1) print(S.upper( ))

(2) print(S.title( ))

(3) print(S.capitalize( ))

(4)

(
4)  print(S.sentence( ))

Ffg S="‘python language’ Th T &7 8 o fr=fafad § & %R 4 waie Frefafad smeeye foad
P’ S9ChE H 21 SR U9 Th3hE H, =i efid e ?

(1) print(S.upper(.))

(2) print(S.title())

(3) print(S.capitalize( ))
(4) print(S.sentence( ))
Options:-

«1, Option ID :- 473,
= 2, Option ID :- 474,
=« 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 4, Option ID : -476

Question ID:- 120
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Identify the correct output of the following Python Code :
Str="Hello World! Hello India!’
Pos=Str.index (‘Hello")

print (Pos)
(1) 0
(2) 18
(3 [0, 13]
(4) (0, 13)

Frafafad a=eE #18 & Hel 8eye ®i Ugd Hifeg ;
Str="Hello World! Hello India!’
Pos=>5trindex ("Hello")

print (Pos)
() 0
(2) 13
(3 [0, 13]
(4 (0, 13)
Options:-

«1, Option ID :- 477,
= 2, Option ID :- 478,
= 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- 1, Option ID : -477

Question ID:- 121

If a List L =["Hello’, “World!'| Tdentify the correct output of the following Python command :
print(*L)

(1) Hello World!

(2) Hello, World!

(3) ‘Hellg’,“Weorld!”

(4) “Hello" "World!’
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afg & faw L=["Hello’, ‘World!] & @ f=fafiad ae & Wer 38eye &l 189 Hifau
print (*L)

(1) Hello World!

(2) Hello, World!
(3) “Hello’, "World!’
(4) ‘Hello’ “World!
Options:-

=1, Option ID :- 481,

= 2, Option ID :- 482,

= 3, Option ID :- 483,

= 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122

If Str is a Python string as

Str="Hello World!"

What will be the output of the following Python Command ?
print(Str.find('1"))

(1) 2
(2 3
(3) [2,3 7]
49 23 7)
Ifg Str

Str="Hello World!
F w9 | U qEed g0 § o Fr=fafen amem g %1 sseye & g 2
print (Str.find(‘T"))

(1) 2

(2) 3

3) [2 37]

(49 (237
Options:-

=1, Option ID :- 485,
= 2, Option ID :- 486,
= 3, Option ID :- 487,

= 4, Option ID :- 488,
Answer Given:- 1, Option ID : -485

Question ID:- 123
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Suppose a Python tuple TUP is declared as
TUP=(A’, ‘B, ‘'C))
Which of the following command is invalid ?

(1) TUP=(D)
(2) TUP=(D,)
(3) TUP+ =(D)
(4) TUP+ =(D,)

qH wifeu fF T grags 29 TUP &1 =i faaen = 8
TUP={A% "B "CY

fr=fafes § 9 ®F @ FHie 9= € 2
(1) TUP=(D)

(2) TUP=(D")

(3) TUP+ =(D)

(4 TUP+ =(D')
Options:-

«1, Option ID :- 489,
= 2, Option ID :- 490,
= 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 3, Option ID : -491

Question ID:- 124

Identify the correct output of the following Python code :
TUP=(3, 1, 2, 4)

sorted(TUP)
print(TUP)

(1) (B3,1,2 4
(2 (L2 34
(3) 3, L]
4) [1,2, 3 4]
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Frafafad T@eE # & Wat S32Y2 F1 UEaH HifaT
TUP=3, 1, 2, 4)

sorted(TUP)
print(TUDP)

(1) (1,24
(2) (1,2 34
(3) [3,1,2 4]
(4) [1,2, 3, 4]
Options:-

«1, Option ID :- 493,
= 2, Option ID :- 494,
= 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 2, Option ID : -494

Question ID:- 125

Find the correct output of the following Python programsegment :
T=(1)

print(T*3)

(1) 3

T=(1)
print(T=3)

(1) 3

(2 (151 §]
3y =1

(4) (3)
Options:-

=1, Option ID :- 497,
= 2, Option ID :- 498,
= 3, Option ID :- 499,

= 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498

Question ID:- 126
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Select the correct output of the given Python code from the following options :
S="INDIAN’

L =S.Partition('N’)

NS=L[0]+-"+L[1]+"—"+L[2]

print (NS)

(1) F=N—DIA—-N-—
(2) I-DIA-—

(3) I-DIAN

(4) I-N-DIAN

Frefafad fawedi § 9 fou U 9=ya 1S & T& 318y &l 9394 Hifag ;
S="INDIAN’

L =S.Partition(‘N’)

NS=L[0]+“~"+L[1]+“—="+L[2]

print (NS)

(1) I-N-DIA-N-
(4) TI= DIA —

(3) I-DIAN

(4) [—N-DIAN
Options:-

«1, Option ID :- 501,
= 2, Option ID :- 502,
=« 3, Option ID :- 503,

= 4, Option ID :- 504,
Answer Given:- 1, Option ID : -501

Question ID:- 127

To execute the following code in Python, which module need to be imported ?
print( . mean([1, 2, 3]))

(1) math

(2) random
(3) statistics
(4) probability
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Bt 2

print( . mean([1, 2, 3]))
(1) math

(2) random

(3) statistics

(4) probability

Options:-

«1, Option ID :- 505,
= 2, Option ID :- 506,
=« 3, Option ID :- 507,

= 4, Option ID :- 508,
Answer Given:- 1, Option ID : -505

e § frefafad i 1 wEifad w0 & fau 9 9=gga @ 3902 (import) 0 &1 AFITHA

Question ID:- 128

If D is a Python dictionary as

D={A":1,B :2C ;3

Then, which of the following command will remove the entire dictionary from the memory ?
(1)  del(D)

(2) D.del()
(3) D.clear()
(4) D.remove( )

gfe D wF ygyA fesrd &
D={A’:1,"B :2,'C :3)
d1 frefafea § 9 = 9 &9 9980 4 9 995 femd &1 821 ot 2

(1) del(D)

(2) D.del()

(3) D.cleax( )
(4) D.remove( )

Options:-

«1, Option ID :- 509,
= 2, Option ID :- 510,
= 3, Option ID :- 511,

= 4, Option ID :- 512,
Answer Given:- 3, Option ID : -511

Question ID:- 129
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What will be the output of the following Python code ?
D1={& :5,"8B:7,"C :9

D2={B":5, ‘D : 10}

D1l.update(D2)

print(D1)

(L) {A:S 5,€ :9, "D :10}

(2) {A:5"B:5%C:9 By D10}

3) {A":5 C:9.D 10}

(4y {'B27,D:10.°A :5°C 1%

Frafafad =em #1E %1 ARege 7= 8 ?
Di={&A:5, 8B :7,"C:9

D2={'B" : 5, 'D" : 10}

D1.update(D2)

print(D1)

(1Y {'Af:5,"B 15,9, D +10)

(2 HAT:5 BB, "B LG D 10)
@) {alsd T8, D 10}

4y H'B +7.°D 104" :5.C 19
Options:-

=1, Option ID :- 513,
= 2, Option ID :- 514,
= 3, Option ID :- 515,

= 4, Option ID :- 516,
Answer Given:- 1, Option ID : -513

Question ID:- 130

Select the output forthe given Python code from the following options :
D1={1:22:3, 3v4}
D2 =D1.get(1, 2)

print(D2)

(1) 2

(2) 3

(3 12 3]

(4 {1:2,2:3}
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Frafafad fowed § 9 fou T umys e & fou s8eye &1 =94 Hifau :

D1={1:2,2:3,3:4)
D2 =D1.get(1, 2)

print(D2)

(1) 2

(2) 3

(3 [2 3]

(4 {1:2,2 3}
Options:-

«1, Option ID :- 517,
= 2, Option ID :- 518,
=« 3, Option ID :- 519,

= 4, Option ID :- 520,
Answer Given:- 3, Option ID : -519

Question ID:- 131

Which of the following functions cannot be used with string(str) data type ?
(1) islower()

(2) isupper()

(3) isalpha( )

(4) isnum()

2T (str) B1E1 2189 & T 1A 91 B S9ART el fohal S Hehdl & 2
(1) islower()

(2) isupper()

(3) isalpha( )

(4) isnum()

Options:-

=1, Option ID :- 521,
= 2, Option ID :- 522,
= 3, Option ID :- 523,

= 4, Option ID :- 524,
Answer Given:- 3, Option ID : -523

Question ID:- 132
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options :
N =int(input(“Enter the number”))
for i in range(2, N):

if (N%i==0):
print(i)
(1) to display the proper factors (excluding 1 and the number N itself)
(2) to check whether N is a prime or Not
(3) to calculate sum of factors of N
(4) to display all prime factor of the number N

feu 1u grem g =1 e sifau oin el faeedi 3 9 YR & 98sE & 999 Sife

N =int(input(“Enter the number”))
for i in range(2, N):

if (N%i==0):
print(i)
(1) S9% PrHEe (Feed) ® weifd F60 F fou (LeiR N #en 1 sew)
(2) FE<EA F fau fd #1 N % S99 9 § agan J6
(3) N & UFEE] % 4F &l AT 3 & o
(4) N @& % |t 1A [UHEUE 1 Y& i ok foe
Options:-

=1, Option ID :- 525,
= 2, Option ID :- 526,
= 3, Option ID :- 527,

= 4, Option ID :- 528,
Answer Given:- 1, Option ID : -525

Examine the given Python program and select the purpose of the program from the following

Question ID:- 133

If A =randomrandint(B, C) assigns a random value between 1 and 6 (both inclusive) to the identifier

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolin0=220424303220...

A, what should be the values of B and C, if all required modules have already been imported ?

() B=0,C=6
(2) B=0,C=7
(3) B=1,C=7
(4) B=1,C=6
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Cﬁéﬂﬂ‘eﬁﬁﬂﬁﬁ‘iﬂ Wﬁi@?@?@é (import) o foru T g 2
(1) B=0,C=6
(2) B=0,C=7
(3) B=1,C=7
(4) B=1,C=6

C
N
Options:-
=1, Option ID :- 529,
= 2, Option ID :- 530,
= 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530

7fg A =random.randint(B, C) STESfCHER A &1 1 9 6 (S wWiHa) & =4 &1 Teq 967 odl € a1 B 3R

Question ID:- 134

Identify the correct output of the following Python code :
from math import *

A=56

print(floor(A), ceil(A))
(1) 5 6

(2) 6 5

(3 =B -~

(4) =6 —PH

Frefafad @y Fie & W& 8 ye H A HifT

from math import *

A=5.6

print(floor(A), ceil(A))

(1) 5 6

(2) 6 5

(B) —54.\0

(4 -6 -5
Options:-

=1, Option ID :- 533,
= 2, Option ID :- 534,
= 3, Option ID :- 535,

= 4, Option ID :- 536,
Answer Given:- 1, Option ID : -533

Question ID:- 135
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Identify the correct output of the following Python program segment :
import math

print(math.fabs(—10))

1 1
2) —10
(3) —10.0
(4) 10

Freafafad a=y g T & T8 3qE Sl UgEH HIfy,

import math
print(math.fabs(—10))

(1) 1

(2) - 10
3) -10.0
(4 10
Options:-

=1, Option ID :- 537,
= 2, Option ID :- 538,
= 3, Option ID :- 539,

= 4, Option ID :- 540,
Answer Given:- 1, Option ID : -537

Question ID:- 136

Consider the given Python programme and identify one possible output of this code out of the
following options :

from random import *

Low =randint(2, 3)

High =randrange(5,.7)

for N in range (Low, High):
pring(N, end =" ")

(1) 345
2) 23
(3) 45
(4) 3456
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fou U wRreA YR W faEr Hifan o) fefafaa fased § 9 39 F18 & th 991fad A8eye &l 29m
HIfST
from random import *
Low =randint(2, 3)
High =randrange(5, 7)
for N in range (Low, High):
print(N, end="")

(1) 345

(2 23

3) 45

(4) 3456
Options:-

«1, Option ID :- 541,
= 2, Option ID :- 542,
= 3, Option ID :- 543,

= 4, Option ID :- 544,
Answer Given:- 3, Option ID : -543

Question ID:- 137

Assuming all required modules have already been imported, identify the correct output of the
following Python program segment :

Data=[4, 4, 1, 2, 4]
print(mean(Data), mode(data))

(1) 14
2) 41
3) 34
(4) 43

7% 71 o |efleevae Higgd TR (import) # forw wu ¥ Frafafen wmes wom e & @
STRTYE I YEAM BT :

Data=[4, 4,1, 2, 4]

print(mean(Data), mode(data))

(1) 14
(2) 41
(3) 34
(4) 43
Options:-

«1, Option ID :- 545,
= 2, Option ID :- 546,
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=« 3, Option ID :- 547,

= 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547

Question ID:- 138

Observe the Python code carefully and answer the following question :
def FUN(A):

L=[]
for i in range (2, A):
if (A%i==0)
L.append(i)
print(L)
N=10
FUN(N)
Identify the global identifier in the above code :
(1) A
(2 L
(3) i
(4 N

YA IS = AEHUHIGES SFaciih e AR FHEferiad 999 1 3w S
def FUN(A):

L=[]
for i in range (2, A):
if (A%i==0):
L.append(i)
print(L)
N=10
FUN(N)
@ﬂaﬂ?ﬁ@ﬁ global.aﬂs@iﬁw g HIf9
(1) A
(2) L
(3) 1
(4 N
Options:-

«1, Option ID :- 549,
= 2, Option ID :- 550,
=« 3, Option ID :- 551,
= 4, Option ID :- 552,
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Answer Given:- 1, Option ID : -549

Question ID:- 139

Observe the following Python program carefully.

import random

def DICE(Low =1, High =6):
RND =random.randint(Low, High)
print(RND, end="")

DICE( )

DICE(2)

DICE(2, 4)

Which of the following options cannot be an output of the above code ?

1) 433

2) 413

3) 354

4) 643

e S e P

Frfafad g@meE dum & SEurYEs e Sife
import random
def DICE(Low =1, High =6):
RND =random.randint(Low, High)
print(RND, end="")
DICE( )
DICE(2)
DICE(2, 4)

frefafay fasredi 8 4 =9 @ faFey ST Fie #1 8eye 7E & g 2 ?

Options:-

=1, Option ID :- 553,
= 2, Option ID :- 554,
= 3, Option ID :- 555,

= 4, Option ID :- 556,
Answer Given:- 2, Option ID : -554

Question ID:- 140
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Identify the output of the following Python code :
def EXP(N2):

global N1

N1, N2=N1+5, N2+10

print(N1, N2, end="")

N1=10
EXP(N1)
print(N1)

(1) 102015
(2 152010
(3) 25:20:15
(4) 102010

frfafad arem #e % e i 989 HINT
def EXP(N2):

global N1

N1, N2=N1+5, N2+10

print(N1, N2, end="")

N1=10
EXP(N1)
print(N1)

(1) 1020 15
(2) 152010
(3) 152015
(4 102010
Options:-

«1, Option ID :- 557,
= 2, Option ID :- 558,
=« 3, Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141

Which of the following mode, when used in file opening statement in Python, generates an error,
if the file does not exist ?

(1) a+

2) -+

3) w+
(4) a
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Ie= Bt € 2
(1) a+

2y =+

(3) w+
(4 a
Options:-

=1, Option ID :- 561,
=« 2, Option ID :- 562,
= 3, Option ID :- 563,

= 4, Option ID :- 564,
Answer Given:- 4, Option ID : -564

Response Sheet

qEeE | EEe ST €2he § g fF S W) afe wEe famme T8 26 € d fee |ie ¥ 3 (error)

Question ID:- 142

Consider the following Python command :
File = open(‘Myfile’, ‘a’)

(1) “Myfile’ can be a text file

(2) ‘Myfile’ can be a csv file

(3) “Myfile’ can be a binary file

(4) “Myfile” will be created if not exist
Frferfed aeem sHie 12 fa=m e
File = open(‘Myfile’, “a’)

Freafafaa # 9 #F 9 fases w& =81 amm ?
(1) ‘Myfile’ can'be a text file

(2) ‘Myfile’ can be a csv file

(3) ‘Myfile’ can be a binary file

(4) “Myfile" will be created if not exist

Options:-

=1, Option ID :- 565,
= 2, Option ID :- 566,
= 3, Option ID :- 567,

= 4, Option ID :- 568,
Answer Given:- 4, Option ID : -568

Which of the following option cannot be true ?

Question ID:- 143
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Which of the following is not true for the Python command :
File = open(’story.txt’, ‘a+")

(1) More text can be written into “story.txt’

(2) Content of the file ‘story.txt’ can be read.

(3) Content of the file ‘story.txt” can be modified.

(4)

4 Command generates an error, if the file ‘story.txt. does not exist.

YU THHS & g H B T FYT Tel A 2

File = open( story.txt’, ‘a+")

(1) “story.bxt’ H 3R s1fuer e fomar o1 9ahar @

(2) ‘story.bct’fﬁlgﬁ%aﬁzﬁlﬂa{lﬁm%

(3) “story.txt’ WEd o whee ol URAfdd fehan ST wehel &

(4) 4 “story.txt’ FEe farmm 7€ 2t & @ FAle ¥ Ffe (TW) I Bl &

2

Options:-

«1, Option ID :- 569,
= 2, Option ID :- 570,
=« 3, Option ID :- 571,

= 4, Option ID :- 572,
Answer Given:- 4, Option ID : -572

Question ID:- 144

Consider the following Python program segment :
File = open('Poem.txt’, ‘r’)

T =File.readline( )

Identify the data type of T :

(1) String (str)

(2) List
(3) Tuple
(4) Dictionary
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Frefafaa Tmem wm e @ fa=m wife
File = open('Poem.txt’, ‘r’)
T =File.readline( )

T % SIZEEY &I Te=H HiT :
(1) String (str)
(2) List
(3) Tuple
(4) Dictionary
Options:-

=1, Option ID :- 573,
= 2, Option ID :- 574,
= 3, Option ID :- 575,

= 4, Option ID :- 576,
Answer Given:- 1, Option ID : -573

Question ID:- 145

Name the Python module need to be imported to invoke the function ?
load( )

(1) «csv
(2) pickle
(3) sql
(4) Dbinary

load( ) %eRTH 1 WART & & @ ZHE (import) T ST al TraeH Higge &1 A 31 ¢ 7

(1) csv

(2) pickle

(3) sql

(4) binary
Options:-

«1, Option ID :- 577,
= 2, Option ID :- 578,
=« 3, Option ID :- 579,

= 4, Option ID :- 580,
Answer Given:- 2, Option ID : -578

Question ID:- 146
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Examine the given Python program and select the purpose of the program from the following
options :

F=open('story.txt’, ‘r+’)

S=F.read( )

S=S.upper( )

F.seek(0)

F.write(s)

F.close( )

(1) to count the upper case alphabets present in the file

2)  to convert all alphabets into uppercase in the file

]

(2)
(3) tocopy only the upper case alphabets from the file
(4)

to remove all lower case alphabets from the file

few e wrrer i o1 e Y S feu T faeed | | Wi o WA o wE Hife
F=open('story.txt’, ‘r+")

S=F.read()

S=S.upper( )

F.seek(0)

F.write(s)

F.close( )

(1) Ed § G TY TR g Tehegd (918 =) i T0F w3 & e

(2) wrRe H Ty T gt Fuif il R FH (g8 Fu) § ggen & fau
(3) el WiEE H I HH USHEZH (I 90) 1 il e % fa
(4) TREA H et AR FH TehEEH (BIE 9U1) H g2H & fag

Options:-

=1, Option ID :- 581,
= 2, Option ID :- 582,
= 3, Option ID :- 583,

= 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147

seek( ) is a method of ?
(1) «csvmodule

(2) pickle module
(3) text module

(4) file object
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seek( ) fREa! T faftl (method) 82
(1) csv module
2) pickle module

(2)
(3) text module
(4) file object

Options:-

=1, Option ID :- 585,
= 2, Option ID :- 586,
= 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148

csv module need to be imported in a Python program to invoke or use the function :
(1) write( )
2

(2) writerow( )
(3) writeline( )
(4)

4)  writelines( )

T = O
(1)  write( )
2

(2) writerow( )
(3) writeline( )
(4)

4)  writelines( )

Options:-

=1, Option ID :- 589,
= 2, Option ID :- 590,
=« 3, Option ID :- 591,

= 4, Option ID :- 592,
Answer Given:- 3, Option ID : -591

ot Urg= IR H csv HISTA w1 SHIE A ol AEYIHAl Bldl § dlich 39 eI hl SHdleh SALaT TR

Question ID:- 149
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Examine the given Python program and select the best purpose of the program from the given
options :

File = open(“Poem.txt”, “r”)

print(len(File.readline( ).split( )))

File.close()

(1) to count the number of words present in the file

(2) to count the number of lines present in the file

(3) to count the number of characters present in the file

(4) to count the number of words present in the first line of the file

feu e grreE w1 adiern 2 feu g fasedl | 9 gEm & gaitd 9EsE sl =5 i
File = open(“Poem.txt”, “r”)

print(len(File.readline( ).split( )))

File.close( )

(1) e | feu e vreal ki HeA 1 fidl 5 o fon

(2) e 1 € T e %) den e 9 ¥ R

(3) hEd H fTu e wiged #t den wi fed e F fer

(4) RS i Yol oA H Y e vl it wem w TR e % fen

Options:-

«1, Option ID :- 593,
= 2, Option ID :- 594,
=« 3, Option ID :- 595,

= 4, Option ID :- 596,
Answer Given:- 4, Option ID : -596

Question ID:- 150

CSV files are comma separated values saved as a

(1) text file

(2) Dbinary file
(3) MySQL table
(4) random file

CSV files H H1 ( sreafowy) faziem g @t & fog % w9 H |9 T o €
(1) text file

(2) Dbinary file

(3) MySQL table

(4) random file
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Options:-

=1, Option ID :- 597,

= 2, Option ID :- 598,

= 3, Option ID :- 599,

= 4, Option ID :- 600,
Answer Given:- 4, Option ID : -600

Question ID:- 151

The creator of the open source Pandas Package for data analysis in the Python Programming
language was

(1)  Wes Mcinney
(2) Mc Pandas

(3) John D.Hunter
(4) Travis Oliphant

qEYH YT Ses H SR UAfarad o fag o9 9 ders Yo & i o |

(1) =9 g

(2) THH S

(3) wH.ELEX

(4) rfaw sifethe
Options:-

=1, Option ID :- 601,
= 2, Option ID :- 602,
= 3, Option ID :- 603,

= 4, Option ID :- 604,
Answer Given:- 3, Option ID : -603

Question ID:- 152

Which of the following is not bundled package with pandas ?

(1) six

(2) numpy
(3) pytz

(4) statistics
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frafafad § 9 #F 91 pandas F 919 TF 9868 (bundled) s T8 ¢ 7

(1) six

(2) numpy

(3) pytz

(4) statistics
Options:-

=1, Option ID :- 605,
= 2, Option ID :- 606,
=« 3, Option ID :- 607,

= 4, Option ID :- 608,
Answer Given:- 1, Option ID : -605

Question ID:- 153

Which of the following is equivalent of and operator while using Boolean indexing on data
frames ?

(1) &&
2) @
3) &
4 N

fel Tr T Jeiid e o wA s e fefafed § @ @ sHE 99ged or SUET § 2

(1) &&
2) @
3) &
(4 N

Options:-

=1, Option ID :- 609,
= 2, Option ID :- 610,
=« 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154
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Find the output of the following Python code :
import Pandas as pd
M =pd.series({' P’ : 10, ‘Q" : 90})

print(M)
M P Q
10 90
2 P 10
Q 90
3 0 P 10
1 Q 90
4 10 P
90 Q

Frafafad g=eE S &1 3seye I Hif
import Pandas as pd
M = pd.series({'P’ : 10, “Q" : 90})

print(M)
1) P Q
10 90
2 T 10
Q 90
(3) 0 P 10
1 Q 90
4) 10 P
90 Q
Options:-

=1, Option ID :- 613,
= 2, Option ID :- 614,
= 3, Option ID :- 615,

= 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155
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import pandas as pd
S =pd.series(20, 30)

print(S)
(1) TypeError
(2) 20 30
(3 0 20

1 3
(4 0 1

20 30

freafafad Trem #1e &1 ey ## am ?
import pandas as pd
S =pd.series(20, 30)

print(S)

(1) TypeError

(20 20 30

(3) 0 20
1 30

(4) 1
20 30

Options:-

=1, Option ID :- 617,
= 2, Option ID :- 618,
=« 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 3, Option ID : -619

Response Sheet

What will be the output of the following Python code ?

Question ID:- 156
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Fill in the blanks with an appropriate command from the given options to produce the output
shown on the right side of the following code :

import pandas as pd

D = [[1, 2], [3, 4]] Al A2
A = ["A1%, "A21 Bl 1 2
B = ['B1", "B2"] B2 3 4
Print(D)

(1) D=pd.DataFrame(D, columns= A, index=B)
(2) = pd.DataFrame(D, rows =B, columns = A)
(3) D=pd.DataFrame(D, B, i=A)

(4) (A,

4) D=pd.DataFrame D)

Frefafas e o el 2R 2ol T sseye 1 frere &g fou T fashedl & 9 Suge Fuie & e
T 9fu ;

import pandas as pd

D = [[1,2], 3, 4]] Al A2
A = ['A1","A2" Bl 1 2
B = ['B1", "B2"] B2 3 4
Print(D)

(1) D=pd.DataFrame(D,
(2) = pd.DataFrame(D, rows =B, columns= A)
(3) D=pd.DataFrame(D, A)

(4) (A,

columns = A, index=B)

= pd.DataFrame

\-._-'

Options:-

«1, Option ID :- 621,
= 2, Option ID :- 622,
=« 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 1, Option ID : -621

Question ID:- 157
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What will be the output of the following Python code ?
import numpy as np

B =np.array([20, 50, 80, 30])

print(B, B.size, B.shape)

(1) (20, 50, 80, 30) 4, (4,)

(2) [20, 50, 80, 30] 4, (4,
(3) (20, 50, 80, 30) (4,
(4) [20, 50, 80, 30] (4,)

4

4

Frafafad =em F1E F1 A™EYE #1862
import numpy as np

=np.array([20, 50, 80, 30])
print(B, B.size, B. shape)

(1) (20, 50, 80, 30) 4, (4,)
(2)  [20, 50, 80, 30] 4, (4,)
(3) (20,50, 80, 30) (4,) 4
(4) [20, 50, 80, 30] (4,) 4

Options:-

«1, Option ID :- 625,
= 2, Option ID :- 626,
= 3, Option ID :- 627,

= 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158

Which of the following will help us to read the content of a CSV file ITEMS.CSV as pandas
DataFrame ?

1) IT=pandas.read(”ITEMS.CSV”
F
(2) IT=pandas.readcsv(“ITEMS.CSV”)
3) IT=pandas.csv_read(“ITEMS.CSV”
P
4) IT=pandas.read csv(“ITEMS.CSV”
P

Frefafad 9 & =1 gl 4o Srenhd % w9 H [TEMS.CSV Wi o hed &l Te- H el Sl ?
(1) IT=pandas.read(“ITEMS.CSV”)

( IT = pandas.readcsv(“ITEMS.CSV”)

(3) IT=pandas.csv_read(“ITEMS.CSV”)

(4) IT=pandas.read csv(“ITEMS.CSV”)
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Options:-

=1, Option ID :- 629,

= 2, Option ID :- 630,

=« 3, Option ID :- 631,

= 4, Option ID :- 632,
Answer Given:- 4, Option ID : -632

Question ID:- 159

Consider the following import command :
import matplotlib.pyplot as PLT
Which of the following command will help us to draw a line chart for given valaes ?

(1) PLT.lineplot([100, 400, 200, 300])
(2) PLT.plotline([100, 400, 200, 300])
(3)  PLT.line([100, 400, 200, 300])
(4) PLT.plot([100, 400, 200, 300])

Ffafad 392 (import) FAE W for=m FIfST

import matplotlib.pyplot as PLT

frefefed o | %F € Fais fou 7 9= * fory U s =1 sHH § W8 i ?
(1) PLT.lineplot([100, 400, 200, 300])

(2) PLT.plotline([100, 400, 200, 300])
(3) PLT.line([100, 400, 200, 300])
(4) PLT.plot([100, 400, 200, 300])

Options:-

=1, Option ID :- 633,
= 2, Option ID :- 634,
= 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:-.2, Option ID : -634

Question ID:- 160

Which of the following is DDL command ?
(1) UPDATE SET

(2) DELETE

(3) DROP TABLE

(4) INSERT INTO
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fafafad 4 9 9 9 U DDL %9 8 ?
(1) UPDATE SET

(2) DELETE

(3) DROP TABLE

(4) INSERT INTO

Options:-

«1, Option ID :- 637,
= 2, Option ID :- 638,
= 3, Option ID :- 639,

= 4, Option ID :- 640,
Answer Given:- 3, Option ID : -639

Question ID:- 161

Which of the following is DML command ?
(1) INSERT INTO

(2) DROP TABLE

(3) CREATE TABLE

(4) ALTER TABLE

frefafead § 9 =9 9 s DML F9i€ 27
(1) INSERT INTO

(2) DROP TABLE

(3) CREATE TABLE

(4) ALTER TABLE

Options:-

=1, Option ID :- 641,
= 2, Option ID :- 642,
= 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162

(1) Primary Key
(2) Foreign Key
(3) Alternate Key
(4)

4) Candidate Key
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An attribute or a set of attributes which are used to identify a tuple uniquely is known as :
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Tordll 2uet =l Afgdd ®9 9 Tg=MHA o fau wger qu (32i=ge) H9an 00 & HHE o &1 Hed @ 7
(1) Primary Key

(2) Foreign Key
(3) Alternate Key
(4) Candidate Key

Options:-

=1, Option ID :- 645,
= 2, Option ID :- 646,
= 3, Option ID :- 647,

= 4, Option ID :- 648,
Answer Given:- 4, Option ID : -648

Question ID:- 163

Which of the following is not a valid relational operator used in SQL ?

® <=
@ <>
@ =>
@ =

frefeafed § 9 % o SQL H g5 T |- Frrsuieh e Te ¢ ?

o <=
2 <>
@ =>
(9 =
Options:-

=1, Option ID :- 649,
= 2, Option ID :- 650,
= 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 3, Option ID : -651

Question ID:- 164

Which of the following is using wrong syntax for a SELECT query in SQL ?
(1) SELECT # WHERE RNO>100 FROM STUDENT;

(2) SELECT = FROM STUDENT WHERE RNO>100;
(3) SELECT * FROM STUDENT WHERE RNO BETWEEN 100 AND 200;
(4) SELECT = FROM STUDENT WHERE RNO IN (100, 101, 105, 104);
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SQL ¥ el SELECT o et Tetd sTeR—T=1 (syntax) &1 94N fefafad § & fead o = 872
(1) SELECT * WHERE RNO>100 FROM STUDENT;

(2) SELECT * FROM STUDENT WHERE RNO>100;

(3) SELECT * FROM STUDENT WHERE RNO BETWEEN 100 AND 200;

(4) SELECT * FROM STUDENT WHERE RNO IN (100, 101, 105, 104);

Options:-

=1, Option ID :- 653,
= 2, Option ID :- 654,
= 3, Option ID :- 655,

= 4, Option ID :- 656,
Answer Given:- 1, Option ID : -653

Question ID:- 165

Which of the following will be the correct SQL command to add a new column FEES in a table
TEACHER ?

(1) ALTER TABLE TEACHER
ADD COLUMN FEES FLOAT;
(2) ADD COLUMN FEES FLOAT
INTO TEACHER;
(3) UPDATE TEACHER
ADD COLUMN FEES FLOAT;
(4) INSERT INTO TEACHER
ADD COLUMN FEES FLOAT;

fedt TEACHER 29a ® U 741 FEES ictd Siie o fau |8t SQL #Hig f=fafag § @ & 4 § 2
(1) ALTER TABLE TEACHER
ADD COLUMN EEES FLOAT;
(2) ADD COLUMN FEES FLOAT
INTO TEACHER;
(3) UPDAZE TEACHER
ADD'COLUMN FEES FLOAT;
(4) INSERT INTO TEACHER
ADD COLUMN FEES FLOAT;

Options:-

=1, Option ID :- 657,
= 2, Option ID :- 658,
=« 3, Option ID :- 659,

= 4, Option ID :- 660,
Answer Given:- 1, Option ID : -657
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Question ID:- 166

Which of the following will display a list of tables in a database ?
(1) DISPLAY TABLES;

(2) SHOW TALES;
(3) SBLECT TABLES;
(4) VIEW TABLES;

foret Sree (DATABASE) H 25 (TABLES) ¥4 &1 fohe R Weftia feran smam ?

(1) DISPLAY TABLES;

(2) SHOW TALES;

(3) SELECT TABLES;

(4) VIEW TABLES;
Options:-

«1, Option ID :- 661,
= 2, Option ID :- 662,
=« 3, Option ID :- 663,

= 4, Option ID :- 664,
Answer Given:- 1, Option ID : -661

Question ID:- 167

Which of the following will display information about all the employees from employee table,
whose names contains second letter as “A” 7

(1) SELECT = FROM EMPLOYEE WHERE NAME LIKE “_ A%";
(2) SELECT * FROM EMPLOYEE
WHERE NAME LIKE “%A.";
(3) SELECT #* FROM.EMPLOYEE
WHERE NAME LIKE “_ _A%";
(4) SELECT * FROM EMPLOYEE
WHEREINAME =“_A%";
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fordt EMPLOYEE Table ¥ 9eff se=nfdi, forer - o1 g8 2f ‘A’ 8, F 9 § Sai femm & fag
IEREIR R RNERIRSIUI
(1) SELECT * FROM EMPLOYEE WHERE NAME LIKE “_A%” ;
(2) SELECT * FROM EMPLOYEE
WHERE NAME LIKE “%A_";
(3) SELECT * FROM EMPLOYEE
WHERE NAME LIKE “_ _A%”;
(4) SELECT * FROM EMPLOYEE
WHERE NAME =“_A%";

Options:-

=1, Option ID :- 665,
= 2, Option ID :- 666,
= 3, Option ID :- 667,

= 4, Option ID :- 668,
Answer Given:- 3, Option ID : -667

Question ID:- 168

Which of the following SQL command will help in incrementing values of FEES column in
STUDENT table by 10% ?

(1) UPDATE STUDENT
ASSIGN FEES=FEES #* 1.1;
(2) UPDATE STUDENT
SET FEES=FEES * 1.1;
(3) UPDATE STUDENT
SET FEES=FEES #* 10%;
(4) UPDATE STUDENT
SET FEES 10%;

frafafad # @ #F 9 SQL #9ig STUDENT 29 § FEES i & ded §¢ HF I 10% FgH § Ter
T 2
(1) UPDATE STUDENT
ASSIGN FEES = FEES * 1.1;
(2) UPDATE STUDENT
SET FEES=FEES * 1.1;
(3) UPDATE STUDENT
SET FEES=FEES * 10%;
(4) UPDATE STUDENT
SET FEES 10%;

Options:-
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=1, Option ID :- 669,
= 2, Option ID :- 670,
=« 3, Option ID :- 671,

= 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169

Which of the following is correct sequence in a SELECT query ?

(1) SELECT, FROM, WHERE, GROUP BY, HAVING, ORDER BY
(2) SELECT, WHERE, FROM, GROUP BY, HAVING, ORDER BY
(3) SELECT, FROM, WHERE, HAVING, GROUP BY, ORDER BY
(4) SELECT, FROM, WHERE, GROUP BY, ORDER BY, HAVING

SELECT Y H & W 9 H& & ?

(1) SELECT, FROM, WHERE, GROUP BY, HAVING, ORDER BY
(2) SELECT, WHERE, FROM, GROUP BY, HAVING, ORDER BY
(3) SELECT, FROM, WHERE, HAVING, GROUP BY, ORDER BY
(4) SELECT, FROM, WHERE, GROUP BY, ORDER BY, HAVING

Options:-

«1, Option ID :- 673,
= 2, Option ID :- 674,
=« 3, Option ID :- 675,

= 4, Option ID :- 676,
Answer Given:- 1, Option ID : -673

Question ID:- 170

Consider the following tables and their respective degrees and cardinalities in a database called
SCHOOQL :

Database : SCHOOL
Table Degree Cardinality
STUDENT 20 300
TEACHER 10 25

Select the degree and cardinality of the cartesian product of the tables STUDENT X TEACHER
from the following options :

(1) 30 7500

(2) 200 325
(3) 30 325
(4) 200 7500
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fordl SCHOOL DATABASE H f=fafad SRt (table) R 3Heh! Haifed et (degree) e iRl
(cardinality) T fa=R I, :

Database : SCHOOL
Table Degree Cardinality
STUDENT 20 300
TEACHER 10 25

frfafaa fasedi § ¥ STUDENT X TEACHER ¥RUIl & M4 3e& (Cartesian product) &1 Tl

(Degree) 3iX FfEAfAE! (Cardinality) 1 =34 iU
(1) 30 7500

(2) 200 325

(3) 30 325

(4) 200 7500

Options:-

=1, Option ID :- 677,
= 2, Option ID :- 678,
= 3, Option ID :- 679,

= 4, Option ID :- 680,
Answer Given:- 1, Option ID : -677

Question ID:- 171

Which of the following set of functions is.a valid set of aggregate functions in MySQL ?
(1) AVG( ), ROUND( ), COUNT()

(2) MIN(), UPPER( ), AVG()

(3) COUNT( ), MAX( ), SUM( )

(4) DATE(), COUNT( ), LTRIM( )

Tr=fafad § 9 i 9 (Function) ¥5g MySQL T T e (Aggregate functions) =1 A= HH&
72

(1)  AVG(9,ROUND( ), COUNT()
(2) MIN(), UPPER( ), AVG( )

(3) COUNT( ), MAX( ), SUM()

(4) DATE( ), COUNT( ), LTRIM( )

Options:-

=1, Option ID :- 681,
= 2, Option ID :- 682,
= 3, Option ID :- 683,

= 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683
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Question ID:- 172

Find the output of the MySQL query based on the given Table-COACH (ignore the output header)
Table : COACH

C1D CNAME GAME SALARY

G03 VSHALI NULL 60000

GO05 YUVRAJA CRICKET NULL

GO08 MALKHAN | ATHLATICS 30000

G09 SACINDRA CRICKET NULL
Query :

SELECT COUNT(GAME), AVG(SALARY)
FROM COACH;

() 3 70000
(2) 4 35000
3) 4 70000
4) 3 35000

1= & 7 WUt (Table) -COACH (#1822 Y ol ToReAEr #{) W ARG MySQL W9 & 3M32YL
ﬁmﬂm:

Table : COACH

C1D CNAME GAME SALARY

GO03 VSHALI NULL 60000

GO05 YUVRAJA CRICKET NULL

GO08 MALKHAN | ATHLATICS 80000

G09 SACINDRA CRICKET NULL
Query :

SELECT COUNT(GAME), AVG(SALARY)
FROM COACH;

(1) 3 70000
(2) 4 35000
(3) 4 70000
4) 3 35000
Options:-

=1, Option ID :- 685,
= 2, Option ID :- 686,
=« 3, Option ID :- 687,

= 4, Option ID :- 688,
Answer Given:- 1, Option ID : -685
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Question ID:- 173

Find the output of the MySQL query based on the given Table-STUDENT (ignore the output header)
Table : STUDENT

S1D SNAME SEC MARKS

101 Ameena A 83

107 ATjun B 86

112 Albert B 80

120 Akram A 85
Query :

SELECT SEC, AVG (MARKS) FROM STUDENT
GROUP BY SEC HAVING MIN (MARKS) > 80;

() B 83
(2) A 84
3) A 84
B 83
4 A 83
B 80

&l T "Rt (Table)-STUDENT W &1, MySQL U1 & 329 =l T I (A3eYe 9y i
TSRS )
Table : STUDENT

S1D SNAME SEC MARKS

101 Ameena A 83

107 Arjun B 86

112 Albert B 80

120 Akram A 85
Query :

SELECT SEC, AVG (MARKS) FROM STUDENT
GROUP BY SEC HAVING MIN (MARKS) > 80;

(1) B 33

2) A 84

(3) A 84

B 83

4) A 83

B 80
Options:-

«1, Option ID :- 689,
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= 2, Option ID :- 690,
=« 3, Option ID :- 691,

= 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691

Response Sheet

Question ID:- 174

Database : SPORTS
Table : GAMES

G1D GNAME | FEES
GO01 Football 300
G02 Cricket 1000
GO03 |Basketball] 500

and their respective games (GNAME)

WHERE P.G1D=G.GI1D ;

Database : SPORTS
Table : GAMES

G1D | GNAME { FEES
GO1 Football 300
G02 Cricket 1000
G03 |Basketball] 500

Sedl FHIE FH | 2 ?

d

(
(:

WHERE P.G1ID=G.GID ;
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Table : PLAYERS

Consider the following tables in a database called SPORTS.

P1D |PNAME| SEX G1D
P101 Amrita F G03
P103 | Ameena F G02
P107 Angel F GO02
P109 Aman M GO03

(1) SELECT PNAME, G1D FROM PLAYERS ;
(2) SELECT PNAME, GNAME FROM GAMES, PLAYERS
WHERE GAMES.G1D =PLAYERS.G1D ;
(3) SELECT PNAME, GNAME FROM GAMES; PLAYERS ;
(4) SELECT PNAME, GNAME FROM GAMES, PLAYERS

Table : PLAYERS

Frfafad grfordi (Tables) § SPORTS A& SR&H W fa=r Hifew -

Which is the best command from the following options to display the name of the player (PNAME)

P1D |PNAME| SEX G1D
P101 | Amrita F G03
P103 | Ameena F G02
P107 | Angel F G02
P109 Aman M GO03

1) SELECT PNAME, G1D FROM PLAYERS ;
) SELECT PNAME, GNAME FROM GAMES, PLAYERS
WHERE GAMES.G1D =PLAYERS.G1D ;
(3) SELECT PNAME, GNAME FROM GAMES, PLAYERS ;
(4) SELECT PNAME, GNAME FROM GAMES, PLAYERS

fEerel (PNAME) 3R 37 Haftd @d (GNAME) % M = &f¥id & o fore fefafed fased §
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Options:-

«1, Option ID :- 693,
= 2, Option ID :- 694,
= 3, Option ID :- 695,

= 4, Option ID :- 696,
Answer Given:- 3, Option ID : -695

Question ID:- 175

Following are the two tables in a MySQL database.
Database : COMPARTMENT

Table : SUBJECTS Table : RESULT
SUBCODE| SUBNAME |[MAXT|MAXP ROLL | SUBCODE | TMARKS | PMARKS
Informatics
065 _ 70 30 10045 083 70 30
Practices
Computer
083 ) 70 30 10135 065 56 29
Science
301 English Core| 80 20 10231 065 63 30
10345 083 56 29

students registered in that subject in table RESULT.
(1) SELECT SUBNAME, COUNT(¥)
FROM SUBJECTS, RESULT GROUP BY SUBNAME ;
(2) SELECT SUBNAME, COUNT (%)
FROM SUBJECTS, RESULT ORDER BY SUBNAME ;
(3) SELECT SUBNAME, COUNT (%)
FROM SUBJECTS NATURAL JOIN RESULT ORDER BY SUBNAME ;
(4) SELECT SUBNAME, COUNT ()
FROM SUBJECTS NATURAL JOIN RESULT GROUP BY SUBNAME ;
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Select the command from the following opfiens to display subjects (SUBNAME) and number of
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MySQL BT H & JRIAT (Tables) & T8 % :

ZREY : COMPARTMENT
Table : SUBJECTS

Response Sheet

Table : RESULT

SUBCODE| SUBNAME |[MAXT|MAXP ROLL | SUBCODE | TMARKS | PMARKS
Informatics
065 : 70 | 30 10045 083 70 30
Practices
Compiit
083 OMPEEE | 70 | 30 10135 065 56 29
Science
301 |English Core| 80 | 20 10231 065 63 30
10345 083 56 29

Subjects (SUBNAME) 3iR ®Rfi- RESULT # 39 faw § <51 ©F &1 He&n &l gui+ & fou fefafad
foeredl § ¥ %Hig 1 997 HIfST :

(1) SELECT SUBNAME, COUNT ()

FROM SUBJECTS, RESULT GROUP BY SUBNAME ;

SELECT SUBNAME, COUNT (*)

FROM SUBJECTS, RESULT ORDER BY SUBNAME ;

SELECT SUBNAME, COUNT (*)

FROM SUBJECTS NATURAL JOIN RESULT QRDER BY SUBNAME ;

SELECT SUBNAME, COUNT (#)

FROM SUBJECTS NATURAL JOIN RESULT GROUP BY SUBNAME ;

Options:-

=1, Option ID :- 697,
= 2, Option ID :- 698,
= 3, Option ID :- 699,

= 4, Option ID :- 700,
Answer Given:- 4, Option ID : -700

Question ID:- 176

To establish the Python-MySQL connection, connect( ) method is used with certain parameters or
arguments. Which of the following is not a parameter/argument used with connect( ) method ?

(1) wuser

(2) password
(3) database
(4) table
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Python-MySQL HaY (connection) 1Y F = fau L i = TR % |y connect( ) faftr =1
Wmﬁﬂ%lcomect() fafy &% iy Fr=fafaa 9 9 foea Tdeyad w1 w8 g s ?

(1) user

(2) password
(3) database
(4) table

Options:-

=1, Option ID :- 701,
= 2, Option ID :- 702,
= 3, Option ID :- 703,

= 4, Option ID :- 704,
Answer Given:- 4, Option ID : -704

Question ID:- 177

commif( ) is required to be used after the execution of certain queries in Python-MySQL connectivity
applications. Identify one such MySQL command out of thefollowing options :

(1) CREATE
(2) INSERT

(3) SELECT

(4 DROP

Py thon-MySQL FHfefae (connectivity) TRy H EE] el o feues & a8 commit() &l T
foman S a1ifar &) Frefafad fasmedl | § Ut MySQL i i 9= Hifsu

(1) CREATE
(2) INSERT
(3) SELECT
(4) DROP
Options:-

«1, Option ID :- 705,
= 2, Option ID :- 706,
=« 3, Option ID :- 707,

= 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question ID:- 178
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While working on Python-MySQL connectivity, fetchall( ) method is used to get data from table.
The method fetchall( ) returns -

(1) alist

(2) atuple

(3) tuple of lists
(4) list of tuples

Python-MySQL FHfaefafe (connectivity) 9 =M T THA, WU 121 UId & o (AU fetchall fafy
=1 JAWT a1 S © 1 fetchall fafi THEd (return) HIA T

(1) alist

(2) atuple

(3) tuple of lists
(4) list of tuples

Options:-

=1, Option ID :- 709,
= 2, Option ID :- 710,
=« 3, Option ID :- 711,

= 4, Option ID :- 712,
Answer Given:- 4, Option ID : -712

Question ID:- 179

The method cursor( ) is used in Python-MySQL connectivity applications. This method is a member

of :

(1) sql module

(2) pickle module

(3) database-connectivity module
(4) «csvmodule

Py thon-MySQL #Afaefafe Tefiehem § cursor( ) faft w1 wam fran sman 21 =% fofy forwent = we=
g7

(1) sglmodule

2) pickle module

4

(
(3) database-connectivity module
(4) csvmodule

Options:-
«1, Option ID :- 713,
= 2, Option ID :- 714,
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= 3, Option ID :- 715,

= 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180

Which of the following clause is used with SELECT command in MySQL to avoid duplication of
output rows.

(1) NO DUPLICATE

(2) UNIQUE
(3) DISTINCT
(4) NO REPEAT

MySQL ¥ 3718292 Ufekidl (rows) =i 3TEfc § g9 & fau SELECT wHie o qi¢ f=fafaa ¥ 9 frg
el o1 YA fohan imen & 2

(1) NO DUPLICATE

(2) UNIQUE

(3) DISTINCT

(4) NO REPEAT
Options:-

«1, Option ID :- 717,
= 2, Option ID :- 718,
=« 3, Option ID :- 719,

= 4, Option ID :- 720,
Answer Given:- 2, Option ID : -718
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